Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Ltd proposes to appoint Retail Outlet dealers in Bihar State, as per following details:

SI. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Site		um Dimensi of the site (i			arranged by the plicant	Mode of selection	Fixed Fee / Minimum bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular/R ural	MS+HSD in KLs	SC SC CC-1 SC PH ST ST CC1 ST PH OBC OBC CC1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC/ DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Draw of Lots / Bidding	(Rs in Lakhs)	(Rs in Lakhs)
1	Within 0.5 Km to 2.5 Km from Birsinghpur Chowk towards Samastipur town on NH-322	SAMASTIPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2	Within 5km from Bangaon Thana Main Gate towards Bihra on NH 327 E	SAHARSA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
3	Within 3 km from Madhya Vidyalaya, Jorgama Main Gate towards Tikuliya on SH 91	MADHEPURA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
4	Within 2km from Utkramit Madhya Vidyalaya Indira Aawash Gate, Mathahi towards Madhepura on NH 231 (Old NH 107)	MADHEPURA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
5	Within 5km from Madhya Vidyalaya Bhatpura Main Gate on NH 231	SAHARSA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
6	Within 3 KM from intersection of SH 18 and Khargour - Amrath - Manjhway Road towards Jamui on SH 18	JAMUI	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
7	Between 2 km to 4 kms from Shahid Smarak, Herudiyara towards Lakhisarai on old NH 80 (New NH 33)	MUNGER	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
8	Between 2 kms to 6 Kms from Halsi Police Station gate towards Sikandra on SH 08	LAKHISARAI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
9	Jamalpur Nagar Parishad (Within municipal limit) (Not on NH/SH Road)	MUNGER	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
10	Between 1 km to 6 km from Barauni Zero mile towards Mokama on NH 31 on RHS	BEGUSARAI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
11	Between 1 Km to 4 Kms from Vidyapith Chowk(intersection of NH 33 and SH 8) towards Surajgarha on old NH 80 (New NH 33)	LAKHISARAI	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
12	Between 1 KM and 3 KM from junction of Ekchari-Dhanauri road and New Munger-Mirzachauki NH (Rasulpur flyover) towards Mirzachauki on New Munger-Mirzachauki NH	BHAGALPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
13	Munger town (Within municipal limit) not on NH/SH Road	MUNGER	Regular	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
14	Between 0.5 km to 5.5 km from Dumar Chowk towards Kursela on NH 31	KATIHAR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
15	Between 6 km to 13 km from Hariabara Toll Plaza towards Forbesganj on NH- 27	ARARIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
16	Between 0.3 KM from Dogacchi Zero mile and Champa Nala Pool on Old NH 80 (New NH 33), while going towards TNB college from Dogacchi	BHAGALPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
17	WITHIN 0.5 and 6 KILOMETERS FROM GULABBAGH ZEROMILE ON NH27 (OLD NH 57) (LHS WHILE GOING FROM GULABBAGH TO ARARIA)	PURNIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
18	KM stone 288 to KM stone 302 on NH -31 going towards Purnia	KHAGARIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
19	Between 1 to 4 km from intersection of NH-27 and SH-77 towards Pothia on NH-27 (RHS)	ARARIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
20	Within 4 kms from Ghorghat Bridge end point on Munger side towards Munger on old NH 80 (New NH 33)	MUNGER	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
21	KM Stone 258 to KM stone 254 on NH-31 towards Begusarai	BEGUSARAI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

Between 1 KM and 3 KM from junction of SH-85 and New Munger- Mirzachauki NH, towards Mirzachauki on New Munger-Mirzachauki NH, RHS	BHAGALPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Between 0.3 KM and 5 KM from Bikrampur More towards Bheda More on NH	BANKA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
District Jail main gate Begusarai to North Bihar Power Distribution Company Limited Substation (gate), Lakho, Begusarai in LHS while going towards Khagaria on NH 31	BEGUSARAI	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Between 3 KM to 10 KM from Aadarsh Madhya Vidyalaya Sono (Sono Chowk) toward Chakai on NH 333	JAMUI	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
Within Bhagalpur Municipal Limit on NH	BHAGALPUR	Regular	170	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
BETWEEN KM STONE 37 TO KM STONE 44 TOWARDS DARBHANGA ON LHS ON NH 27(OLD NH57)	MUZAFFARPUR	Regular	230	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BETWEEN KM STONE 39 TO KM STONE 44 TOWARDS MUZAFFARPUR ON LHS ON NH 27(OLD NH57)	MUZAFFARPUR	Regular	230	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BETWEEN KM STONE NUMBER 33 AND KM STONE NUMBER 39 TOWARDS MUZAFFARPUR ON LHS ON NH22 (OLD NH77)	MUZAFFARPUR	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BETWEEN KM STONE 507 TO 511 ON LHS ON NH-27 WHILE MOVING TOWARDS MUZAFFARPUR	MUZAFFARPUR	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BETWEEN KM STONE 95 TO 107 RHS ON NH-57(OLD)/NH-27(NEW) WHILE GOING FROM DARBHANGA TO PURNEA	MADHUBANI	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
WITHIN 5KM FROM JUNCTION OF NH-27 AND NH-28A TOWARDS MOTIHARI ON NH 28 A	EAST CHAMPARAN	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
WITHIN 0.5 KM TO 3.5 KM FROM CHHATAUNI CHOWK TOWARDS AWADHESH CHOWK ON NH28A(NEW 527D)	EAST CHAMPARAN	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
FROM KM STONE 447 TO 450 TOWARDS PIPRAKOTHI ON NH27(OLD NH28), LHS	EAST CHAMPARAN	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
WITH IN 3 KM FROM MILESTONE NO 47 (PACHRUKHI = 3KM) TOWARDS SIWAN ON NH-531 (OLD NH -85)	SIWAN	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
ON NH 27 (OLD NH57) BETWEEN 0.3 KM TO 4 KM FROM JUNCTION OF EKMIGHAT-SHOBHAN ROAD ON NH 27 TOWARDS MUZAFFARPUR	DARBHANGA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BETWEEN 1 KM TO 4 KM FROM DELHI MORE TOWARDS JAINAGAR ON NH 527B	DARBHANGA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BETWEEN BHAGWANPUR CHOWK AND CHANDNI CHOWK ON NH-122 (OLD NH-28)	MUZAFFARPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BETWEEN KM STONE 488 TO 492 ON LHS ON NH-27 WHILE MOVING TOWARDS MUZAFFARPUR	MUZAFFARPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BETWEEN KM STONE 47 TO 55 ON NH 722	SARAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BETWEEN KM STONE 29 TO 35 ON NH722	MUZAFFARPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
FROM KM STONE 98 TO 100 ON SH74	EAST CHAMPARAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
ON EITHER SIDE, WITHIN 3 KM FROM MILESTONE NO. 26(MAIRWA =11 KM) ON NH 227A	SIWAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
WITH IN 3KM FROM UTKRAMIK VIDYALAYA SAH INTER COLLEGE KISHUNPURA MAIN GATE TOWARDS MALMALIYA ON NH-331 (OLD NH-101)	SIWAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BETWEEN KM STONE 10 TO 15 WHILE GOING FROM LAUKHA TO PHULPARAS ON PHULPARAS-KHUTAUNA-LAUKHA ROAD	MADHUBANI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
FROM LAXMI CHOWK TO SIKANDARPUR CHOWK VIA SIKANDARPUR STADIUM	MUZAFFARPUR	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
WITHIN MILESTONE 29 TO MILESTONE 35 ON NH727(OLD NH28B)	WEST CHAMPARAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
WITHIN MILESTONE 55 TO MILESTONE 65 ON NH727	WEST CHAMPARAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
WITHIN 5 KM FROM MAIN GATE OF DM RESIDENCE TOWARDS SAKRI ON SAKRI-MADHUBANI ROAD WITHIN MUNICIPAL LIMITS	MADHUBANI	Regular	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
FROM SARDAR PATEL CHOWK TO CHHATAUNI CHOWK VIA MOTI JHEEL	EAST CHAMPARAN	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
WITHIN 2 KM FROM CHIRAIYA POLICE STATION MAIN GATE VIA CHIRAIYA BLOCK TOWARDS MADILWA, ON CHIRAIYA-MADILWA ROAD	EAST CHAMPARAN	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
AT METHOURA ON GOPINATHPUR-PERMANANDPUR REO ROAD, BLOCK- DUMRA	SITAMARHI	Regular	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
BETWEEN KM STONE 37 TO 45 ON SH74	MUZAFFARPUR	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BALIGAR CHOWK TO TARMA BRIDGE TOWARDS PUPRI ON SH87	SITAMARHI	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
BETWEEN 0.5 KM TO 2.5 KM FROM KESHAW CHOWK, SAHEBGANJ ON SH-74 TOWARDS KESARIA	MUZAFFARPUR	Regular	114	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	while going towards Mirzachauki from Munger Between 0.3 KM and 5 KM from Bikrampur More towards Bheda More on NH 333A District Jail main gate Begusarai to North Bihar Power Distribution Company Limited Substation (gate), Lakho, Begusarai in LHS while going towards Khagaria on NH 31 Between 3 KM to 10 KM from Aadarsh Madhya Vidyalaya Sono (Sono Chowk) toward Chakai on NH 333 Within Bhagalpur Municipal Limit on NH BETWEEN KM STONE 37 TO KM STONE 44 TOWARDS DARBHANGA ON LHS ON NH 27(OLD NH57) BETWEEN KM STONE 37 TO KM STONE 44 TOWARDS MUZAFFARPUR ON LHS ON NH 27(OLD NH57) BETWEEN KM STONE 39 TO KM STONE 44 TOWARDS MUZAFFARPUR ON LHS ON NH 27(OLD NH57) BETWEEN KM STONE SON NH22 (OLD NH77) BETWEEN KM STONE SON TO S11 ON LHS ON NH-27 WHILE MOVING TOWARDS MUZAFFARPUR BETWEEN KM STONE 507 TO 511 ON LHS ON NH-27 WHILE MOVING TOWARDS MUZAFFARPUR BETWEEN KM STONE 59 TO 107 RHS ON NH-27 AND NH-28A TOWARDS MOTIHARI ON NH 28 A WITHIN SKM FROM JUNCTION OF NH-27 AND NH-28A TOWARDS MOTIHARI ON NH 28 A WITHIN SKM FROM JUNCTION OF NH-27 AND NH-28A TOWARDS MOTIHARI ON NH 28 A WITHIN 0.5 KM TO 3.5 KM FROM CHHATAUNI CHOWK TOWARDS AWADHESH CHOWK ON NH28A(NEW 527D) FROM KM STONE 447 TO 450 TOWARDS PIPRAKOTHI ON NH27(OLD NH28), LHS WITH IN 3 KM FROM MILESTONE NO 47 (PACHRUKHI = 3KM) TOWARDS SIWAN ON NH-531 (OLD NH -85) ON NH 27 (OLD NH57) BETWEEN 0.3 KM TO 4 KM FROM JUNCTION OF EKMIGHAT-SHOBHAN ROAD ON NH 27 TOWARDS MUZAFFARPUR BETWEEN KM TO 4 KM FROM DELHI MORE TOWARDS JAINAGAR ON NH 527B BETWEEN KM STONE 488 TO 492 ON LHS ON NH-27 WHILE MOVING TOWARDS MUZAFFARPUR BETWEEN BHAGWANPUR CHOWK AND CHANDNI CHOWK ON NH-122 (OLD NH-28) BETWEEN KM STONE 488 TO 492 ON LHS ON NH-27 WHILE MOVING TOWARDS MUZAFFARPUR BETWEEN BHAGWANPUR CHOWK AND CHANDNI CHOWK ON NH-122 (OLD NH-28) BETWEEN KM STONE 50 TO MILESTONE NO .26 (MAIRWA = 11 KM) ON NH 227A WITH IN 3 KM FROM MITKRAMIK VIDYALAYA SAH INTER COLLEGE KISHUNPURA MAIN GATE OT OWARDS MALMALIYA ON NH-331 (OLD NH-101) BETWEEN KM STONE 97 TO 35 ON NH722 FROM KM STONE 97 TO 35 ON NH722 FROM KM STONE 9	while going towards Miczachauki from Munger Between 0.3 kM and 5 kM from Bilarampur More towards Bheda More on NH 333A District Jail main gate Begusarai to North Bihar Power Distribution Company Limited Substation (gate), Lakho, Begusarai in LHS while going towards Khagaria on NH 31 Between 3 kM to 10 KM from Aadarsh Madhya Vidyalaya Sono (Sono Chowk) JAMUI Stoward Chakai on NH 331 Within Bhagalpur Municipal Limit on NH BETWEEN KM 570NE 37 TO KM STONE 44 TOWARDS DARBHANGA ON LHS ON NH 27(OLD NHS7) BETWEEN KM 570NE 37 TO KM STONE 44 TOWARDS MUZAFFARPUR ON LHS ON NH 27(OLD NHS7) BETWEEN KM 570NE 37 TO KM STONE 44 TOWARDS MUZAFFARPUR ON LHS ON NH 27(OLD NHS7) BETWEEN KM 570NE 30 TO KM STONE NH TOWARDS MUZAFFARPUR ON LHS ON NH 22(OLD NHS7) BETWEEN KM 570NE 50 TO 511 ON LHS ON NH-27 WHILE MOVING ON WARDS MUZAFFARPUR BETWEEN KM 570NE 50 TO 511 ON LHS ON NH-37 (OLD)/NH-27 (NHW) WHILE GOING FROM DARBHANGA TO PURNER BETWEEN KM 570NE 50 TO 512 ON LHS ON NH-57 (OLD)/NH-27 (NHW) WHILE GOING FROM DARBHANGA TO PURNER BETWEEN KM 570NE 50 TO 35 KM FROM CHATAUNI CHOWK TOWARDS MUZAFFARPUR MUZAFFARPUR BETWEEN KM 570NE 95 TO 107 RHS ON NH-57 (OLD)/NH-27 (NEW) WHILE GOING FROM DARBHANGA TO PURNER BETWEEN KM 570NE 95 TO 107 RHS ON NH-57 (OLD) NH-27 (NHW) WHILE GOING FROM DARBHANGA TO PURNER BETWEEN KM 570NE 95 TO 107 RHS ON NH-57 (OLD) NH-27 (NHW) WITHIN 5 KM FROM JUNCTION OF NH-27 AND NH-28A TOWARDS MUZAFFARPUR BETWEEN KM 570NE 95 TO 107 WARDS SIPRAKOTHI ON NH27 (OLD NH28) EAST CHAMPARAN EAST CHAMPARAN BETWEEN BHAGWANPUR CHOWK AND CHANDNI CHOWK TOWARDS SIWAN MITHIN 3 KM FROM MILESTONE NO 47 (PACHRUKHI = 3 KM) TOWARDS SIWAN MITHIN 3 KM FROM MILESTONE NO 147 (PACHRUKHI = 3 KM) TOWARDS SIWAN MUZAFFARPUR BETWEEN BHAGWANPUR CHOWK AND CHANDNI CHOWK ON NH-122 (OLD NH-28) BETWEEN BHAGWANPUR CHOWK AND CHANDNI CHOWK ON NH-122 (OLD NH-28) BETWEEN BHAGWANPUR CHOWK AND CHANDNI CHOWK ON NH-122 (OLD NH-28) BETWEEN BHAGWANPUR CHOWK AND CHANDNI CHOWK ON NH-123 (OLD NH-101) SIWAN MUZAFFARPUR BETWEEN KM 5TONE 48B TO 492 ON LHS ON NH-27 WHILE MO	while going towards Mirzachauki from Munger Between D.3 KM and 5 KM from Birkampur More towards Bheda More on NH BANKA Regular 333A District Jail main gate Begusarai to North Bihar Power Distribution Company Intented Substation (gate), Lakho, Begusarai in L18 while going towards Khagaria on NH 31 BEGUSARAI Regular BEGUSARAI Regular BEGUSARAI Regular BEGUSARAI Regular BEGUSARAI Regular BERWeen 3 KM to 10 KM from Aadarsh Madhya Vidyalaya Sono (Sono Chowk) JAMUI Regular Toward Chakai on NH 333 Regular BETWEEN KM 10 10 KM from Aadarsh Madhya Vidyalaya Sono (Sono Chowk) JAMUI Regular BETWEEN KM 5TONE 37 TO KM STONE 44 TOWARDS DARBHANGA ON LHS ON NH 27(DLD NH57) BETWEEN KM 5TONE 39 TO KM STONE 44 TOWARDS MUZAFFARPUR ON LHS ON NH 27(DLD NH57) BETWEEN KM 5TONE 39 TO KM STONE 44 TOWARDS MUZAFFARPUR ON LHS ON NH 27(DLD NH57) BETWEEN KM 5TONE WIMBER 33 AND KM STONE NUMBER 39 TOWARDS MUZAFFARPUR Regular No NH 28 A WITHIN DS KM TO 3.5 KM FROM CHHATAUNI CHOWK TOWARDS MUZAFFARPUR Regular MUTHIN SKM FROM MILESTONE NO 47 (PACHRIKHI = 3KM) TOWARDS SIWAN NO NH 1531 (OLD NH -35) MUTHIN SKM FROM MILESTONE NO 47 (PACHRIKHI = 3KM) TOWARDS SIWAN Regular MUTHIN SKM FROM MILESTONE NO 3.5 KM TO 4 KM FROM JUNCTION OF DARBHANGA Regular MUTHIN SKM FROM MILESTONE NO 3.5 KM TO 4 KM FROM JUNCTION OF DARBHANGA Regular MUTHIN SKM FROM STONE 49 TO 3.5 KM NH 727 TOWARDS MUZAFFARPUR Regular MUTHIN SKM FROM MILESTONE NO 3.5 KM TO 4 KM FROM JUNCTION OF DARBHANGA Regular MUTHIN SKM FROM MITHIN SKM FROM	while going towards Mirzachauki from Munger Berwere 0.3 KM and 5 KM from Bikrampur More towards Bheda More on NH 332A. DISTRICT Jail main gate Begusarai to North Bihar Power Distribution Company Limited Substation (gate), Lakho, Begusara in LHS while going towards Magaria on NH 31 BEGUSARAI Kingaria on NH 32 BEGUSARAI Kingaria	### White going towards Mirzachaulif from Munger ### Benween 0.3 KM and 5 KM from Birzampur More towards Bheda More on NH ### 333. **DISTRICT Lall main gate Begusaral to North Bihar Power Distribution Company Limited Substation (gaze), Labrio, Begusaral in LHS while going towards ### BEGUSARA1 **BROWGEN 3 KM 10 10 KM from Addarsh Madhya Vidyalaya Sono (Sono Chowk) Dangario an NH 31 **Between 3 KM 10 10 KM from Addarsh Madhya Vidyalaya Sono (Sono Chowk) Dangario an NH 31 **Between 3 KM 10 10 KM from Addarsh Madhya Vidyalaya Sono (Sono Chowk) Dangario an NH 31 **Between 3 KM 10 10 KM from Addarsh Madhya Vidyalaya Sono (Sono Chowk) Dangario an NH 32 **Within Bhagaljur Municipal Limit on NH ### BERWEEN KM 5100 KB 270 KM 5100 KH 41 TOWARDS DARBHANGA ON LHS **ON NH 22 (OLD NH57) **BETWEER KM 5100 KB 270 KM 5100 KH 5100 KM 510	while going towards Mirachandal from Munger Between 0.3 KM and 5 KM from Bilkrampur More towards Bheda More on NY 333A Between 0.3 KM and 5 KM from Bilkrampur More towards Bheda More on NY 333A Between 0.3 KM and 5 KM from Bilkrampur More towards Bheda More on NY 333A Between 0.3 KM and 5 KM from Bilkrampur More towards bheda More on NY 333A Between 3 KM to 10 KM from Andards Madilya Vidyallaya Sono (Sono Chowk) BEGUSARAI Begular 190 SC CFS CFS CFS CFS CFS CFS CFS	while going towards Mirachaud (From Munger Between D 34 May 65 M from Bishary More towards Bhelat More on NH BANKA Begular 150 SC CFS 35 BEGUSARAI Begular 150 SC CFS 35 BEGUSARAI Begular 150 SC CFS 35 BEGUSARAI Begular 150 SC CFS 35 Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya Vidyalaya Sono (Sono Chows) JAMUII Between 3 M for 10 km from Addarsh Madhya M for M for 10 km from Mulayara M for 10 km from Mul	while going towards Mirzachauki from Munger Between O 3M and 8M for the Risampul where towards Bheda More on NH 333A Between O 3M and 8M for the Risampul where towards Bheda More on NH 333A Between O 3M and 8M for the Risampul where towards Bheda More on NH 333A Between O 3M and 8M for the Risampul where towards Bheda More on NH 333A Between O 3M and 8M for the Advance of the Risampul where towards Bheda More on NH 33A Between O 3M and 1M for n Advance Marky Viryalays Sono Isono Chowlo 3M JAMAU Between NM O 3M for N Advance Marky Viryalays Sono Isono Chowlo 3M JAMAU Between NM Son Comment of the Risampul White Sono Isono Chowlo 3M JAMAU BETWEEN NM STONE 41 TOWARDS AND ARRANGA ON NH S ONN 18 720C NH SON	white point forwards Mirzachnauk from Muniper Between G 3M and 5M Mr ori Bikrampun with crowards Bheda More on NY 333A Between G 3M and 5M Mr ori Bikrampun with crowards Bheda More on NY 333A Between G 3M and 5M Mr ori Bikrampun with crowards Bheda More on NY 333A Between G 3M and 5M Mr ori Bikrampun with crowards Bheda More on NY 333A Between G 3M and 5M Mr ori Bikrampun with crowards Bheda More on NY 333A Between G 3M and 5M Mr ori Malani Multip vi Vipilary as fore (Son Chowl) Between G 3M and 5M Mr ori Malani Multip vi Vipilary as fore (Son Chowl) Between G 3M and 5M Mr ori Multip Mr ori Multip Son (Son Chowl) Between Mr ori M	white people trouvers forwards have accounted and appeal and a section of the people o	white group founds Affricational from Marger Beasers 3 SAR and 5 Min on Extragent where towered Brede More on No. 333. Description of the Common State of the Common	white petiting bowers for structural billion before the perits bleeds for each nit of the perits of	And Segular Se

				•						•	•			
56	BETWEEN 5 KM TO 8 KM FROM ALINAGAR BLOCK OFFICE TOWARDS GHANSHYAMPUR ON SH-88	DARBHANGA	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
57	BETWEEN 0.3 KM TO 5 KM ON SH- 104 FROM INTERSECTION OF SH-104 AND SH73 AT AMNOUR WHILE MOVING TOWARDS PACHAURAR	SARAN	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
58	BETWEEN 0.3 KM TO 4 KM ON SH 104 FROM JUNCTION OF SH90 ANS SH104 TOWARDS TARAIYA	SARAN	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
59	WITHIN 0.5KM TO 3.5 KM FROM CHHATAUNI CHOWK TOWARDS DHAKA ON MOTIHARI DHAKA BELWAGHAT ROAD	EAST CHAMPARAN	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
60	Between Km Chainage 28 & Km Chainage 32 on New NH-22 (While going from Patna to Gava)	PATNA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
61	BETWEEN KM STONE NO 61 AND 68 ON NH-227A (SIWAN-MALMALIYA ROAD	SIWAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
62	BETWEEN KM STONE 31 AND KM STONE 25 ON SIWAN SARFARA ROAD SH 47	GOPALGANJ	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
63	WITHIN 4 KM FROM KM STONE NO. 74 (GOPALGAN) = 20KM) TOWARDS	GOPALGANJ	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
64	GOPALGANU ON NH-531 BETWEEN KM STONE 59 AND KM STONE 56 TOWARD SIWAN ON SH 96 [MANJHI BARAULI ROAD]	GOPALGANJ	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
65	(MANUHI BAKAULI ROAD) WITHIN 4KM FROM MAIN GATE OF MITHILA CHITRAKALA SANSTHAN ON NH- 527A TOWARDS MADHUBANI	MADHUBANI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
66	BETWEEN 0.3 KM TO 2.5 KM FROM MAIN GATE OF UTKRAMIT MADHYAMIK VIDHYALYA SADHWARA TOWARDS BISHANPUR ON SH 97	DARBHANGA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
67	WITHIN 2 KM FROM KAMTAUL POLICE STATION MAIN GATE TOWARDS MABBI ON SH 75	DARBHANGA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
68	BETWEEN AGHORIA BAJAR CHOWK TO CHHATA CHOWK VIA KALAMBAGH CHOWK IN MUZAFFARPUR TOWN	MUZAFFARPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
69	BETWEEN BAIRIYA GOLAMBAR TO SARAIYAGANJ TOWER ON MUZAFFARPUR- OLD MOTIHARI ROAD	MUZAFFARPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
70	FROM HARISABHA CHOWK TO IMLI CHOWK VIA PANI TANKI CHOWK AND MITHANPURA CHOWK.	MUZAFFARPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
71	WITHIN 6 KM FROM RAMPUR KHAJURIYA CHOWK TOWARDS SANGRAMPUR ON ARERAJ-RAMPUR KHAJURIYA ROAD (SH74)	EAST CHAMPARAN	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
72	WITHIN 0.5 KM AND 3KM FROM KM STONE 5 TOWARDS SAGAULI ON CHHAPRA BAHAS- SAGAULI ROAD (NOT ON NH)	EAST CHAMPARAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
73	WITHIN 2 KM FROM KM STONE 31 OF SH 54 TOWARDS DHAKA ON SH 54	EAST CHAMPARAN	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
74	WITHIN 1 KM FROM CHAILAHAN RAILWAY CROSSING TOWARDS BANJARIYA NEW BLOCK ON CHAILAHAN RAILWAY CROSSING-BANJARIYA NEW BLOCK ROAD	EAST CHAMPARAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
75	WITHIN 2 KM FROM MANPUR BOLBOM CHOWK, TOWARDS MATIHAN CHOWK ON MANPUR - GARKHA ROAD , BLOCK - DIGHWARA	SARAN	Regular	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
76	Within Municipal limit of Gaya Town on main or arterial road and not on National Highway and State Highway (Within ward nos 1-20)	GAYA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
77	BETWEEN NANPUR CHOWK TO PUPRI POLICE STATION CHOWK ON SH87	SITAMARHI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
78	IN BETWEEN KM STONE 19 TO 24 ON SH52 ON SITAMARHI TO PUPRI ROAD	SITAMARHI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
79	WITHIN 3 KM FROM MAIN GATE OF MAHAKAVI KALIDAS SURYADEV MAHAVIDYALAYA, CHANDOUNA TOWARDS PUPRI CHOWK ON SH52	SITAMARHI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
80	WITH IN 2 KM FROM NBPDCL SUBSTATION MAINGATE, RAMNAGAR , SIWAN TOWARDS SH-47, BLOCK - HUSSAINGANJ	SIWAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
81	BETWEEN KM STONE 2 TO KM STONE 5 TOWARD CHAPRA ON SH 90	GOPALGANJ	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
82	Between distance 0.5KM and 3.5KM From Main Gate of Bless International School on NH20 (Old NH31) on LHS on going to Patna from Ranchi	NAWADA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
83	WITHIN 1KM FROM BANJARIYA POLICE STATION TOWARDS CHHAPWA ON MOTIHARI STATION ROAD (NOT ON NH)	EAST CHAMPARAN	Regular	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
84	Between 1 to 8 km from Kochas chowk (Intersection of NH 319 and SH 17, On NH 319 while going towards Malyabag	ROHTAS	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
85	Between Km Chainage 64 to Main entry gate of Utkramit Madhya Vidyalaya Dharnai on new NH-22(while going from Patna to Gaya)	JEHANABAD	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
86	Between 1 Km and 3 Km ahead of Toll Plaza at Karigaon on NH20 (old NH 31),On LHS while going from Ranchi to Patna	NAWADA	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
_						_			_					

Security Control Con	87	Between Km Stone 143 and 145 on NH-33	PATNA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
The content of the				,											
		, , ,	PAINA												
Section Control Character Control Character Control (1) Description Description	89		VAISHALI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	Ü	3
Bellium Co. Application	- 00			Danislas	100		CEC	25	25	4225		^	Down of Late		
	90		BHOJPUR	Kegular	100	SC	CFS	35	35	1225	U	U	Draw of Lots	U	3
Secretary St. Program (1997) Control	01			Dogulos	100		CEC	25	25	1225	0	0	Drow of Late	0	
20 Settomen of Micros No.2 3 and 2 for CH 69 (Signature Micros No.2 2 and 2 for CH 69 (Signature Micros No.2 2 and 2 for CH 69 (Signature Micros No.2 2 and 2 for CH 69 (Signature Micros No.2 2 and 2 for CH 69 (Signature Micros) Signature Micros No.2 2 and 2 for CH 69 (Signature Micros) Signature M	91		KAIMUR	Regular	100	SC.	CFS	33	33	1225	U	U	Draw or Lots	U	3
30 Severe March State 13 to 15 on 54 bit 24 Az - Yes foods Severe March State 15 on 55 bit 17 bit 55 bit 17 bit 18 bit 17	0.2		VAICHALL	Dogulos	100		CEC	25	25	1225	0	0	Drow of Late	0	-
Section 15 to 15 to 15 to 16															
55 Width of Kinn on other side of main entry gets of finnerings (college of Partners, Child on 316 Partners, Child															
Process Proc			AUKANGABAD	_											
Section Continue Section Section from National Authority Continues (Section Section	95		PATNA	Regular	100	SC.	CFS	33	33	1225	U	U	Draw or Lots	U	3
Second Communication of 183 Second Communication of the Communicatio	06			Pogular	110	s.c	CEC	25	20	1225	0	0	Draw of Late	0	2
	30	,	ROHTAS	Negulai	110	30	CIS	33	33	1223	U	U	Diaw of Lots	U	3
Modulate on RH 1378A Modulate - Name Report	07			Pogular	150	s.c	CEC	25	20	1225	0	0	Draw of Late	0	2
989 Reviewer GS / Im 19 K. Firs From Michael Salabach Owner (1972) 100	31	·	KAIMUR	Negulai	130	30	CIS	33	33	1223	U	U	Diaw of Lots	U	3
Believe No. 15 Am April 20 Service No. 15 Am No. 16	00	,		Pogular	100	s.c	CEC	25	20	1225	0	0	Draw of Late	0	2
599 Between fin steme number 48 and 55 on NH-22 (On NH-44) (Ans-Busar No. 18 and 19 and 1	30		NALANDA	Regulai	100	30	CF3	33	33	1223	U	U	Diaw of Lots	U	3
BRUING Services 1 km to 8 km from intersection of N1120 and N1122, On LHS while GAYA Regular 155 ST CFS 35 35 1225 O O Draw of Lots O 3	90			Pogular	150	sc	CES	25	25	1225	0	0	Draw of Lots	0	2
100 Services 1 Kin to 8 ftm from from intersection of thirt 220 and	33	, , , , , , , , , , , , , , , , , , , ,	BHOJPUR	Regulai	130	30	CIS	33	33	1223	U	O	Diaw of Lots	U	3
Display Company Comp	100			Regular	155	ST	CES	35	35	1225	0	0	Draw of Lots	0	3
Between 1 M7 and 3 Mar from Name agate of Maharahir Cryavanian College, Chausa on M313 A white group from Maharahir Cryavanian College, Chausa on M313 A white group from Maharahir Cryavanian College, Chausa on M313 A white group from Maharahir Cryavanian College, Chausa on M313 A white group from Maharahir Cryavanian College, Chausa on M313 A white group from Maharahir Cryavanian College, Chausa on M313 A white group from Maharahir Cryavanian College, Chausa on M314 A white M313 A white property of the	100	· ·	GAYA	Regulai	133	31	CIS	33	33	1223	U	O	Diaw of Lots	U	3
Chouses on NH 313AM while going from Maharshi Chryavana College Chause SUARA Chouse of the Rampur Chause American Chause Chaus	101			Regular	160	sc	CES	35	35	1225	n	0	Draw of Lots	n	3
Downstrians Sampur Downstr	101	, , ,	BUXAR	ricgulai	100	30	Ci S	33	33	1223	Ü	· ·	Didw of Lots	o o	,
102 Sarakhuri on Porty Misker-Provabhail Jingsorbark Road, Block- Thakurgani RISHANGANU Rural 100 ST CFS 35 35 1225 0 0 Draw of Lots 0 2			ВОЛИ												
103 Within 0.5 km to 3.5 km from Junction of 54 66 and Balijnathpur-Littiyahi via Gamhariya Road on Balijnathpur-Littiyahi via Gamhariya Road Road Road Road Road Road Road Roa	102	The state of the s		Rural	100	ST	CES	35	35	1225	0	0	Draw of Lots	0	2
Gamhariya Road on Bajinathpur - Lihyahi via Gamhariya Road Block- Gamhariya Gamhariy	102	Sarahkari oli Dey Market i Owakilali Siyapokilai Noda, block "Makargarij	KISHANGANJ	Raidi	100	31	Ci S	33	33	1223	Ü	· ·	Didw of Lots	o o	_
Gamhariya Road on Bajinathpur - Livyloyin via Gamhariya Road, Block-	103	Within 0.5 km to 3.5 km from Junction of SH 66 and Baijnathnur - Litivahi via		Rural	100	SC	CES	35	35	1225	0	0	Draw of Lots	0	2
Combany Comb	100		MADHEPURA		100	50	0.5	33	33	1223	ŭ	Ü	51411 01 2015	ŭ	_
Within 0.3 kM for 5kM form intersection of MHz2/Told Mks73 and Indo-Nepal Border road, on Indo-Nepal Border road, on Indo-Nepal Border road, on Indo-Nepal Border road, single-mailtain and the property of			111111111111111111111111111111111111111												
Border road, on Indo-Nepal Border road, Block-Saraigarh Bhaptyahi SUPAUL	104			Rural	100	SC	CES	35	35	1225	0	0	Draw of Lots	0	2
105 Within 2 kM from intersection of Chausa-Phuliaut-Alamnagar road and SH S8, on Chauts- Phuliaut-Alamnagar road Biock-Chausa 100	20.		SUPAUL		100	50	0.5	33	33	1223	ŭ	Ü	51411 01 2015	Ü	_
on Chausas-Phulauk-Alarmagar road, Block-Chausa MACHEPURA Inchesias-Phulauk-Alarmagar road, Block-Chausa MACHEPURA 106 Mithin OS. Win to Sk im for Chaldshalish Chorwa SAMASTIPUR Rural 100 SC CFS 35 1225 0 0 Draw of Lots 0 2 107 Within 4 KM from intersection of SH 82 and Gadh-Bishanpur-Charka Pathar Road, Block- Khaira AMADATIPUR Rural 80 SC CFS 35 35 1225 0 0 Draw of Lots 0 2 108 Within 5 KM from main gate of Sandhua Kurawa Police Station towards BANKA Rural 85 SC CFS 35 35 1225 0 0 Draw of Lots 0 2 109 In between Jawahar Inter School Maharibikhuit main gate of Sandra Maharibikhuit main gate of Sandra Wilabhaih Patel Memorial Inter School Ragham Mahashhuit, Block Alarman Ragar Manal gate of Sandra Maharibikhuit main gate of Sandra Maharibikhuit Manal gate and main gate of Sandra Maharibikhuit Maharibikhuit main gate of Sandra Maha															
on Chausas-Phulauk-Alarmagar road, Block-Chausa MACHEPURA Inchesias-Phulauk-Alarmagar road, Block-Chausa MACHEPURA 106 Mithin OS. Win to Sk im for Chaldshalish Chorwa SAMASTIPUR Rural 100 SC CFS 35 1225 0 0 Draw of Lots 0 2 107 Within 4 KM from intersection of SH 82 and Gadh-Bishanpur-Charka Pathar Road, Block- Khaira AMADATIPUR Rural 80 SC CFS 35 35 1225 0 0 Draw of Lots 0 2 108 Within 5 KM from main gate of Sandhua Kurawa Police Station towards BANKA Rural 85 SC CFS 35 35 1225 0 0 Draw of Lots 0 2 109 In between Jawahar Inter School Maharibikhuit main gate of Sandra Maharibikhuit main gate of Sandra Wilabhaih Patel Memorial Inter School Ragham Mahashhuit, Block Alarman Ragar Manal gate of Sandra Maharibikhuit main gate of Sandra Maharibikhuit Manal gate and main gate of Sandra Maharibikhuit Maharibikhuit main gate of Sandra Maha	105	Within 2 KM from intersection of Chausa-Phulaut-Alamnagar road and SH 58.		Rural	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
100 Within O.Skm to S km from Chaklashah Chowk towards Chandran Chowk, on SAMASTIPUR Samastipurus-Sarairanjan-Patori Road, Block Morray SAMASTIPUR Samastipurus-Sarairanjan-Patori Road, Block Morray SAMASTIPUR Rural 80 SC CFS 35 35 1225 0 0 Draw of Lots 0 2 2 2 2 2 2 2 2 2			MADHEPURA							_		-			
Samastipur-Sarriarijan-Patori Road, Block-Morwa 107 Within 4 KM from intersection of 5H 82 and Gadhi-Bishanpur-Charka Pathar Road, Block-Khaira 108 Within 5 KM from main gate of Bandhus kurawa Police station towards BANKA Rural 80 SC CFS 35 35 1225 0 0 Draw of Lots 0 2	106			Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
107 Within 4 KM from intersection of SH 82 and Gadh-Bishanpur-Charka Pathar Road, Block- Khaira JAMUI Rural 80 SC CFS 35 35 1225 0 0 0 Draw of Lots 0 2 2 2 2 2 2 2 2 2		Samastipur-Sarairanian-Patori Road, Block Morwa	SAMASTIPUR												
Road, on Gadhi-Bishanpur-Charka Pathar Road, Block- Khaira Road Rock Astronomy of the SM from maing gate of Bandhus Karrawa Police station towards BANKA Rural ST Rural ST Rural ST Rural Rural ST Rural Rural ST Rural	107			Rural	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
Maharshi Mehi Ashram, Block - Bounsi (on Dam Road)		Road, on Gadhi-Bishanpur-Charka Pathar Road, Block- Khaira	JAMUI												
Maharshi Mehi Ashram, Block - Bounsi (on Dam Road)	108			Rural	85	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
Sardar Vallabhbhai Patel Memorial Inter School Rajdham Maheshkhunt, Block KHAGARIA Gogri Sardar Vallabhbhai Patel Memorial Inter School Rajdham Maheshkhunt, Block KHAGARIA Sardar Vallabhbhai Patel Memorial Inter School Rajdham Maheshkhunt, Block Sardar Vallabhbhai Patel Memorial Inter School Rajdham Maheshkhunt, Block Sardar Vallabhai Rural 120 SC CFS 35 35 1225 0 0 Draw of Lots 0 2			BANKA												
Gogri	109	In between Jawahar Inter School Maheshkhunt main gate and main gate of		Rural	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
110 Within 3 KM from Arpathar Chowk on Katoria Road toward Chidiya More BANKA Rural 120 SC CFS 35 35 1225 0 0 0 Draw of Lots 0 2		Sardar Vallabhbhai Patel Memorial Inter School Rajdham Maheshkhunt, Block	KHAGARIA												
BANKA BANK		- Gogri													
Block-Katoria Block-Katori	110	Within 3 KM from Arpathar Chowk on Katoria Road toward Chidiya More	DANKA	Rural	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
112 WITHIN 1.5 KM EITHER SIDE OF MILESTONE NO 7 ON NARKATIAGAN)- WEST CHAMPARAN Rural 60 SC CFS 35 35 1225 0 0 Draw of Lots 0 2		,													
GAUNAHA-MANGURAHA ROAD (MDR) WEST CHAMPARAN WITHIN 1.0 KM FROM DHUTAHA NADI BRIDGE TOWARDS RAXAUL ON			DARBHANGA	Rural											
SAUNAHA-MANGURAHA ROAD (MDR)	112		WEST CHAMBADAN	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
RAXAUL-BHELAHI-SENUARIYA CANAL ROAD			WEST CHAIVIPARAIN												
RAXAUL-BHELAHI-SENUARIYA CANAL ROAD	113		FAST CHAMPARAN	Rural	55	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
ROAD			2.01 CHAWFARAN												
ROAD	114		EAST CHAMPARAN	Rural	55	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
ROAD	ļ														
ROAD	115		SITAMARHI	Rural	55	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
KHUTAUNA ON MADHUBANI-RAJNAGAR-KHUTAUNA ROAD,BLOCK- RAJNAGAR 117 WITHIN MILESTONE 54 TO MILESTONE 56 ON PAKHANAHA ROAD, MAUZA- BALUA RAMPURWA,BLOCK- BAIRIYA 118 ON KAITHWALIYA-LAUHRIYA ROAD FROM MAHANA KULI PACS GODAM TOWARD KAITHWALIYA WITHIN 2KM, VILLAGE- SEMWAPUR, BLOCK- WEST CHAMPARAN Rural 54 SC CFS 35 35 1225 0 0 Draw of Lots 0 2 ST CFS 35 35 1225 0 0 Draw of Lots 0 2 TOWARD KAITHWALIYA WITHIN 2KM, VILLAGE- SEMWAPUR, BLOCK- WEST CHAMPARAN			5												
RAJNAGAR	116			Rural	55	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
117 WITHIN MILESTONE 54 TO MILESTONE 56 ON PAKHANAHA ROAD, MAUZA-BALUA RAMPURWA,BLOCK-BAIRIYA 118 ON KAITHWALIYA-LAUHRIYA ROAD FROM MAHANA KULI PACS GODAM TOWARD KAITHWALIYA-WITHIN 2KM, VILLAGE-SEMWAPUR, BLOCK-WEST CHAMPARAN Rural 52 ST CFS 35 35 1225 0 0 Draw of Lots 0 2 TOWARD KAITHWALIYA-WITHIN 2KM, VILLAGE-SEMWAPUR, BLOCK-WEST CHAMPARAN		·	MADHUBANI			1		1							1
BALUA RAMPURWA,BLOCK- BAIRIYA 118 ON KAITHWALIYA- LAUHRIYA ROAD FROM MAHANA KULI PACS GODAM TOWARD KAITHWALIYA WITHIN 2KM, VILLAGE- SEMWAPUR, BLOCK- WEST CHAMPARAN TOWARD KAITHWALIYA WITHIN 2KM, VILLAGE- SEMWAPUR, BLOCK- WEST CHAMPARAN WEST CHAMPARAN TOWARD KAITHWALIYA WITHIN 2KM, VILLAGE- SEMWAPUR, BLOCK- WEST CHAMPARAN									<u> </u>	<u> </u>					
BALUA RAMPURWA,BLOCK- BAIRIYA 118 ON KAITHWALIYA- LAUHRIYA ROAD FROM MAHANA KULI PACS GODAM TOWARD KAITHWALIYA WITHIN 2KM, VILLAGE- SEMWAPUR, BLOCK- WEST CHAMPARAN Rural 52 ST CFS 35 35 1225 0 0 Draw of Lots 0 2	117	· ·	WEST CHAMPARAN	Rural	54	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
TOWARD KAITHWALIYA WITHIN 2KM, VILLAGE- SEMWAPUR, BLOCK- WEST CHAMPARAN										1					
	118			Rural	52	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
CHANPATIA			WEST CHAMPARAN			1		1	1						1
		CHANPATIA]						1

119	AT VILLAGE PACHRA BETWEEN CHHATAUNI HIGH SCHOOL TOWARDS SUNDARPUR ON REO ROAD, BLOCK-TARIYANI	SHEOHAR	Rural	51	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
120	Between 0.3 KM to 4 KM from Fekla Chowk towards Chikni on Ashok Paper Mill to Bideshwar Asthan road Block-Bahadurpur	DARBHANGA	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
121	WITHIN 5 KM FROM MAIN GATE OF KALUAHI BLOCK TOWARDS KHAJAULI ON KALUAHI-KHAJAULI ROAD	MADHUBANI	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
122	Within 1 Km (From either side boundary) of Middle School Shammbhupur Kauri Bhagwanpur, on Mahua Road	VAISHALI	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
123	Between 0.5 Km to 5 Km from Bagdiha More (Intersection of SH 69 and Gaya- Rafiganj road) on Gaya-Rafiganj Road towards Rafiganj	GAYA	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
124	Between 0.3 Km to 5 Km from Intersection of Nagar Nausa-Khusrupur Road and NH-431 on Nagar Nausa-Khusrupur Road	NALANDA	Rural	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
125	Within 2 Km from Vidya Vihar school main gate towards Meerganj on SH65	PURNIA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
126	WITHIN 3 KM FROM NEWALAL CHOWK TOWARDS GULABBAGH ZEROMILE ON NH 31 PURNIA BYPASS	PURNIA	Regular	250	OBC	DC	30	30	900	32	95	Draw of Lots	15	4
127	Between 4 km to 8 km from Parwaha Chowk towards Raniganj on SH 77	ARARIA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	Within Municipal limit of Simrahi Nagar Panchayat not on SH/NH road	SUPAUL	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
129	Within 3 km from Gandhi Chowk, Bagha, Begusarai Towards Birpur, within municipal limit of Begusarai	BEGUSARAI	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
130	Within 1 KM to 6 KM from Asanpur Kupaha Toll Plaza Supaul on NH27(Old NH57) on RHS towards Bhutha Chowk	SUPAUL	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
131	WITHIN 4 KM FROM BANMANKHI BLOCK OFFICE MAIN GATE TOWARDS SARSI ON NH 231 (OLD NH 107)	PURNIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
132	Within Municipal Limit of Raniganj Nagar Panchayat	ARARIA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
133	WITHIN 1 and 8 KM FROM MARANGA TOLL PLAZA TOWARDS BANBHAG VIA GIRJA CHOWK ON NH231 (OLD NH 107)	PURNIA	Regular	200	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
134	Between KM Stone no 70 and 72 on SH-77 left hand side from Kursela to Forbesganj	ARARIA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
135	Between 1 km and 3 km from intersection of existing NH 131 A and New bypass NH 131 A near Chitauria towards Daheria on New bypass NH 131 A	KATIHAR	Regular	195	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
136	Within Municipal Limit of Birpur Nagar Panchayat (not on SH/NH)	SUPAUL	Regular	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
137	BETWEEN 0.5 KM AND 4 KM FROM GULABBAGH ZEROMILE TOWARDS MARANGA ON NH 31 PURNIA BYPASS	PURNIA	Regular	195	OBC	DC	30	30	900	32	95	Draw of Lots	15	4
138	Within 1 Km to 3 Km from Muktapur railway Crossing towards Darbhanga on NH-322	SAMASTIPUR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
139	Between 0.3km to 2.5 km from Kaakan Chowk towards Jokihat on NH-327E (LHS)	ARARIA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
140	Between 0.5 km and 3.5 km from Mahadeo Dighi Chowk towards Rauta on SH 99	KISHANGANJ	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
141	Within 1.5 KM from Utkramit Uchch Madhyamik Vidyalaya,Ratan(Gogari) towards Maheshkhunt	KHAGARIA	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
142	Within 2 KM from Barauni Dairy Main Gate Towards Pipra on Mungerghat Rashidpur road	BEGUSARAI	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
143	Within 0.3 KM to 5 KM from intersection of NH131 (Old NH106) and NH27 (Old NH57) , on NH27 (Old NH57)	SUPAUL	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
144	Within Municipal limit of Thakurganj Nagar Panchayat not on NH/SH	KISHANGANJ	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
145	Between 1 km and 4 km from Khaikhat toll plaza towards Bahadurganj on LHS on NH 327E	KISHANGANJ	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
146	WITHIN 9 KM FROM BELAURI CHOWK ON NH131A ON LHS WHILE GOING FROM BELAURI TO KATIHAR	PURNIA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
147	Within 7km from District Panchayat Resource Centre towards Tajpur on SH 49	SAMASTIPUR	Regular	100	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
148	WITHIN 3 KM (EITHER SIDE) FROM MAIN GATE OF AMOUR BLOCK OFFICE ON SH99	PURNIA	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
149	Between 0.5 Km to 3 Km from junction of Billo-Chewara road and SH 18, towards Sheikhpura on SH 18	LAKHISARAI	Regular	120	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
150	From Araria Krishi Vibhag Gate to Araria Court Railway Station crossing on Araria Court Station Road	ARARIA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
151	Within 3 KM from Main Gate of S.D.S.K Bhuvneshwari Uchch Madhyamik	SUPAUL	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5

152	Between 1 km to 4 km from Railway Crossing Bathnaha towards Jogbani on NH527(RHS)	ARARIA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
153	Within 3 km from Narpatganj Block Office Gate towards Bhimpur on NH27 (LHS)	ARARIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
154	Within municipal limit of Kishangani (not on NH/SH)	KISHANGANJ	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
155	Within 1.5 km on either side of Jogbani Police station on Jogbani Mirganj Road within Jogbani Nagar Parishad	ARARIA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
156	WITHIN 7 KM FROM BELAURI CHOWK ON NH131A ON RHS WHILE GOING FROM BELAURI TO KATIHAR	PURNIA	Regular	240	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
157	Within 2.5 km from Araria RS Sadhu Sthan Hanuman Mandir towards Araria College on Araria RS Road	ARARIA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
158	Within Municiple Limit of Kasba Nagar Parishad (Not on NH/SH)	PURNIA	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
159	Within 4 KM from Main Gate of Uchchatar Madhyamik 10+2 Vidyalaya Laxmipur,Bihariganj on SH91 towards Udakishunganj	MADHEPURA	Regular	120	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
160	Within 5 KM from Main Gate of JaiLal Uchh Madhyamik (+2) Vidyalay Sapardah, Puraini, Dist- Madhepura, on NH 131(Old NH 106) towards Phulaut	MADHEPURA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
161	Between 0.5 km to 3.5 km from College Chowk, Forbesganj towards Pothia on SH60	ARARIA	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
162	Between 1 km and 6 km from Khaikhat toll plaza towards Thakurganj on LHS on NH 327E	KISHANGANJ	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
163	Between 2 km to 6 km from Mansahi Thana Police Station Main gate towards Manihari on NH 131A on LHS	KATIHAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
164	From KM Stone No 21 to KM Stone No 14 on SH-18	SHEIKHPURA	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
165	WITHIN 9 KM FROM BANBHAG CHOWK (INTERSECTION OF SH65 WITH NH231) ON NH231 TOWARDS MARANGA VIA NH231 PURNIA BYPASS	PURNIA	Regular	210	OPEN	CC	35	35	1225	32	12	Bidding	30	5
166	WITHIN 7 KM FROM KRITYANANDNAGAR BLOCK OFFICE MAIN GATE TOWARDS SARSI ON NH231 (OLD NH 107)	PURNIA	Regular	165	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
167	From 0.3 KM and 3 KM from Birbanna Chowk(on NH-31) towards Bihpur on NH-31	BHAGALPUR	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
168	Between 1 KM and 4 KM from junction of NH 31 and NH 106 while going towards Phulaut from Bihpur, on NH 106	BHAGALPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
169	Within municipal limit of Katihar (not on NH/SH)	KATIHAR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
170	From intersection of NH 231 and left out portion of NH 107 at Rajpur, Madhepura to BNMV College on NH 231	MADHEPURA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
171	Between 0.3 KM and 2.5 KM from Lakshmipur Bhorang railway station gate towards Kahalgaon on old NH-80 (New NH-33)	BHAGALPUR	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
172	KM Stone 250 to KM stone 245 on NH-31 in LHS going towards Begusarai	BEGUSARAI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
173	Within 2km from Madhya Vidyalaya Arraha Gate towards Chakla on SH 59	SAHARSA	Regular	140	OPEN	CC	35	35	1225	32	12	Bidding	30	5
174	Within 3 KM from main gate of R D S college, Salmari towards Barsoi on SH 98	KATIHAR	Regular	150	OBC PH	DC	35	35	1225	32	75	Draw of Lots	15	4
175	Between 3 Km to 5 Km from Government Polytechnic Munger Gate towards Gangtamore on NH 333	MUNGER	Regular	160	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
176	BETWEEN KATIHAR MORE AND BELAURI CHOWK ON NH131A	PURNIA	Regular	150	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
177	Between 1 KM and 3 KM from junction of Rajpur-Murhan road and New Munger-Mirzachauki NH, towards Munger on New Munger-Mirzachauki NH	BHAGALPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
178	Within 2 km on either side of Railway Crossing Barauni Phaatak(Rajwara) on Barauni Zero Mile to Barauni junction road	BEGUSARAI	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
179	Between 2.5 Km to 5 kms from Tarapur Police station towards Sangrampur on SH 22	MUNGER	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
180	Between 0.3 km and 2.5 km from crossing of SH-85 & New Munger- Mirzachauki NH towards Shahkund on SH-85.	BHAGALPUR	Regular	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
181	Within 2 km from main gate of Sur Tulsi Inter College, Katihar towards Mania on NH 31 (old NH 81)	KATIHAR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
182	WITHIN 0.5 and 4 KILOMETERS FROM GULABBAGH ZEROMILE ON NH27 (OLD NH 31) (LHS WHILE GOING FROM GULABBAGH TO SILIGURI)	PURNIA	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
183	Within 0.5 Km to 2.5 Km from Kalyanpur Chowk towards Samastipur town on NH-322	SAMASTIPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
184	Between 1 km and 5 km from Kursela Chowk towards Pothia on SH 77	KATIHAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

185	Between 0.5 km to 2.5 km from Kolasi Chowk towards Katihar on NH 31 (old NH 81)	KATIHAR	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
186	WITHIN MUNICIPAL LIMIT OF PURNEA TOWN (Not on National Highway and State Highway)	PURNIA	Regular	210	OPEN	СС	20	20	400	32	12	Bidding	30	5
187	Between 0.5 km to 4 km from Sitalnagar Chowk towards Bahadurganj on LHS on NH 327 E	KISHANGANJ	Regular	200	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
188	Within 10 km from Durga Chowk, Murliganj towards Bihariganj on SH 91	MADHEPURA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
189	Between 1 km and 6 km from Barauni zero mile towards Begusarai on NH-31	BEGUSARAI	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
190	Between Barari Police station and Tilkamanjhi chowk on main road connecting Barari Police station and DM Bhagalpur Residence (within municipal limit)	BHAGALPUR	Regular	125	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
191	Within municipal limit, Sheikhpura town	SHEIKHPURA	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
192	WITHIN 1 and 4 KM FROM BARSONI TOLL PLAZA ON NH27 (RHS WHILE GOING FROM GULABBAGH TO SILIGURI)	PURNIA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
193	Within 2 KM from Bhatgama Zero Mile (RHS while going from Chausa to Naugachhia) on SH 58	MADHEPURA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
194	Between 0.3 km to 3 km from intersection of NH-27 and new NH-527 towards Bathnaha on NH-527	ARARIA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
195	Between 0.5 km and 3.5 km from Gerabadi Chowk towards Purnea on NH 231 (old NH 31)	KATIHAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
196	Within 0.3 km to 5 km from intersection of NH 107 and SH 95 at Purani Bazaar Chowk towards Hussainchak on SH 95	SAHARSA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
197	Between 1 km and 9 km from Murli Toll towards Begusarai on old NH-28(new NH-122)	BEGUSARAI	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
198	WITHIN 3 KM FROM MAIN GATE OF RUPAULI BLOCK OFFICE TOWARDS TIKAPATTI ON SH 65	PURNIA	Regular	120	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
199	Within 2 KM either side of Panchwati Chowk on Samastipur-Dhurlakh- Gangapur Road, Within Samastipur Municipal Limit	SAMASTIPUR	Regular	100	OPEN PH	DC	20	20	400	32	55	Draw of Lots	15	5
200	Within 4 KM from Medini chowki police station toward Lakhisarai on Old NH 80 (new NH 33)	LAKHISARAI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
201	Within 0.3 KM to 2.5 KM from intersection of NH 31 and NH 333 B towards Munger on NH 333B	BEGUSARAI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
202	Between 1 to 5 km from Narpatganj Police Thana Gate towards Forbesganj on NH-27 (LHS)	ARARIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
203	Within 0.3km to 2.5Km from intersection of New Bypass of NH231 and left out portion of NH 107(Bariyahi Bazaar to Saharsa Bypass Road)at Patuaha, on NH 231	SAHARSA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
204	Between 0.5km to 3 km from intersection of NH 327E and Rajokhar-Muskari Road (Rajokhar Chowk) on LHS towards Raniganj on NH 327E	ARARIA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
205	Between 1 KM and 3.5 KM from Sardarpur chowk towards Gorhatta Chowk on SH-25	BHAGALPUR	Regular	115	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
206	BETWEEN GULABBAGH ZERO MILE AND FORD COMPANY CHOWK IN PURNIA TOWN	PURNIA	Regular	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
207	WITHIN 3 KM FROM THANA CHOWK, BHAWANIPUR TOWARDS RUPAULI ON SH65	PURNIA	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
208	Between 1 Km to 6 km from Girindha Chowk towards Barbigha on NH333A	SHEIKHPURA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
209	Between 2 km to 4 km from Bairgachhi chowk towards Araria Zero Mile on NH-327E (RHS)	ARARIA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
210	Within 3 kms from Main Gate SP residence Lakhisarai on Lakhisarai Bypass road within Lakhisarai Municipal Limit	LAKHISARAI	Regular	130	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
211	Between 1.5 KM and 4.5 km from Jhanvi chowk towards Naugachia Zero mile		Regular	230	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	chowk, LHS while going towards Naugachia zero mile from Jhanvi chowk on NH131B (old SH-58)	BHAGALPUR								-	-		-	
212	From Madhya Vidyalaya ,Baheri Main Gate to Durga Chowk (Singheswar)on NH 131 (Old NH 106)	MADHEPURA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
213	Within 3KM from Main Gate of Utkramit Uchch Madhyamik +2 Vidyalay Reshna, Gwalpara on NH131 (Old NH106) towards Udakishunganj	MADHEPURA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
214	Within 2km from intersection of Chaughara-Laukaha-Saharsa Road and Saharsa Bypass Road on Saharsa Bypass Road (Shivpuri Dhala -Dumrail-Yadav Chowk)	SAHARSA	Regular	115	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5

215	Within 4 KM on either side of Main Gate of Jila Nibandhan and Paramarsh Kendra, Dhadhaur, Jamui on NH 333A	JAMUI	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
216	Between 1 km to 6 km from Barauni Zero mile towards Mokama on NH 31 on LHS	SHEIKHPURA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
217	Between Rajkiya Utkramit Madhya Vidyalaya Harpur Saidavad and Rajkiye Prathmik Vidyalay Pirganj on NH122B (old SH93)	SAMASTIPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
218	Within Municipal limit of Katoriya Town on NH 333A	BANKA	Regular	150	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
219	Within 0.3 km to 2.5 km from Chandani Chowk towards Madhepura Town on NH 231	MADHEPURA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
220	Within Municipal limit of Tribeniganj Nagar Parishad in Supaul District	SUPAUL	Regular	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
221	Within 0.5km to 3 km from intersection of old NH 107 (NH 231) and SH 59 at Manauri Chowk, on NH 231 (old NH 107)	SAHARSA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
222	Within municipal limit of Balia Nagar Parishad on Mungerghat Rashidpur Road	BEGUSARAI	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
223	Between 1 KM and 5 KM from Makandpur Chowk towards Purnea on NH 31	BHAGALPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
224	Within 0.5 km and 3 km from Jalebia More towards Bahadurganj on NH 327E on LHS	KISHANGANJ	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
225	Between 3 km to 5 km from Ramgarh Chowk towards Halsi on SH 8	LAKHISARAI	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
226	Within 0.5 KM and 8 KM from Musrigharari Sabji Mandi Gate towards Chaklalsahi on NH322	SAMASTIPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
227	Between 1 km and 5 kms from Intersection of NH 131 A and NH 133 B near Naraenpur, on NH 133 B while going from Naraenpur towards Baghar	KATIHAR	Regular	220	OPEN	CC	35	35	1225	32	12	Bidding	30	5
228	Within 0.3 km to 4 km from Netaji Subhash Chandra Bose Chowk towards Bariyahi on left out section of NH 107	SAHARSA	Regular	140	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
229	Between Sultanganj Police Station Gate and Akbarnagar Police Station gate on NH 80 (New NH-33)	BHAGALPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
230	Within Municipal Limit of Jamui Town (Not on NH/SH)	JAMUI	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
	Within 3 Km from Main Gate of Jawahar Navodaya Vidyalaya, Sonbarsha Ghat,Khagaria towards Maheshkhunt on NH-231	KHAGARIA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
232	KM Stone - 270 to KM Stone 285 on NH - 31 going towards Purnia	KHAGARIA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
233	Within 1 KM to 7 KM from Lohiya Chowk,Supaul Town on NH327E towards Saharsa	SUPAUL	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
234	Between 0.3 KM and 2.5 KM from Sadanandpur Baisa Ganga pump Nahar towards Kumarsahi on New Munger-Mirzachauki NH, LHS while going towards Kumarsahi from Sadanandpur Baisa.	BHAGALPUR	Regular	190	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
235	BETWEEN INTERSECTION OF SH 65 WITH NH231 (BANBHAGH CHOWK) AND MAIN GATE OF KRITYANANDNAGAR BLOCK OFFICE ON NH231 (OLD NH107)	PURNIA	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
236	Between1 km and 8 kms from Hatia More,Barbigha towards Sheikhpura on NH333A	SHEIKHPURA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
237	Within 2 km from Gyani Chowk towards Bakhari within Municiple Limit of Khagaria	KHAGARIA	Regular	130	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
238	From Chandan chowk towards Chaklalsahi chowk in Patori municipal limit (On Samastipur-Sarairanjan-Patori Road)	SAMASTIPUR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
239	Within Sultanganj Municipal Limit on any major arterial road (not on NH80)	BHAGALPUR	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
240	Within 6 km from Dev Narayan Madhya Vidyalaya Main Gate,Toka towards Supaul on SH 66 (Within Madhepura District)	MADHEPURA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
241	On either side upto 4 KM from intersection of Pawai-Jankipur Road and SH 85, on SH 85	BANKA	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
242	Within 5 KM from intersection of PMGSY Road (Shyambazar-Ratansagar Road) and NH 133E, towards Bounsi on NH 133E	BANKA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
243	Within 3 KM from Intersection of Kulhariya-Basudevpur MMGSY Road and SH25, towards Amarpur on SH 25	BANKA	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
244	Within 0.5 KM to 2.5 KM from Rajaura Chowk towards Manjhaul on SH 55	BEGUSARAI	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
245	From Aadarsh Madhya Vidyalay, Sono (Sono Chowk) to Karpuri Chowk (Sohjana More) on NH 333	JAMUI	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
246	Between 1 Km to 4 Km from Junction of NH 333 and New Munger - Mirzachowki NH, on New Munger - Mirzachowki NH road towards Bhagalpur	MUNGER	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

	Between 0.5 KM from Bhagalpur Zero Mile Chowk (Veer Kunwar Singh Chowk) and Bihar Agriculture University Main Gate on old NH 80 (New NH 33), while going towards Kahalgaon from Bhagalpur	BHAGALPUR	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
248	Between 1 KM and 3 KM from junction of Rasulpur-Rampur Kharhara road and New Munger-Mirzachauki NH towards Munger on New Munger-Mirzachauki NH	BHAGALPUR	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
249	Between Musrigharari Police Thana and Shankar chowk on NH122 (Old NH28)	SAMASTIPUR	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
250	Between Main gate of Jhajha Railway station to Main gate of Narganjo Halt railway station on NH 333 A	JAMUI	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
251	Between 1.5 km and 5 km from LRP chowk Bahadurganj towards Jokihat on NH 327 E on LHS	KISHANGANJ	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
252	Within 0.5 km to 5 km from intersection of SH 84 and NH 333 A, towards Dhoraiya on SH 84	BANKA	Regular	140	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
253	Within Municipal limit of Banka Town (not on NH/SH)	BANKA	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
254	From 0.3KM and 2.5 km from Kharik Chowk (on NH-31) towards Bihpur on NH-31	BHAGALPUR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
255	Within 5 KM from Dhaka More towards Banka on NH 333A	BANKA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	Within 3 KM from main Gate of Utkramit Madhya Vidyalay, Rampur, Anchal- Sikandra on either side , Jamui on SH 8	JAMUI	Regular	120	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
257	Between 1 km and 3 Kms from Munger Zero Mile(Teliya Talab) towards Khagaria on Munger - Khagaria Ganga Bridge Road on NH 333B	MUNGER	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
258	Within 3 km from Rajkiyekrit Middle School Koriya main gate towards Begusarai on SH 55	BEGUSARAI	Regular	140	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
259	WITHIN 3 KM FROM END POINT OF BISHUNPURA FLY OVER TOWARDS LALBAZAR CHOWK ON (NH-19 NEW),	SARAN	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
260	BETWEEN 0.3 KM TO 3 KM FROM LOHIYA CHOWK BENIPATTI TOWARDS RAHIKA	MADHUBANI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
261	BETWEEN KM STONE NUMBER 45 AND KM STONE NUMBER 37 TOWARDS HAJIPUR ON LHS ON NH22 (OLD NH77)	MUZAFFARPUR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
262	FROM KM STONE 476 TO 478, NH27(OLD NH28), LHS TOWARDS MEHSI	EAST CHAMPARAN	Regular	165	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
263	AT MAUZA BELAVA PARRY ON INDO-NEPAL BORDER ROAD, BLOCK- MAJORGANJ	SITAMARHI	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
264	BETWEEN MILESTONE NO. 8 & 12 ON NH-227A (SIWAN - GUTHNI ROAD)	SIWAN	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
265	WITHIN 4 KM FROM IOCL MOTIHATI TERMINAL MAIN GATE ON EITHER SIDE ON NH 527 D (OLD NH-28A)	EAST CHAMPARAN	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
266	BETWEEN 1 TO 3 KM FROM RAJE TOLL RHS TOWARDS MUZAFFARPUR ON NH 27 (OLD NH 57)	DARBHANGA	Regular	164	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
267	WITHIN 2 KM FROM CHHAPWA CHOWK TOWARDS SAGAULI ON NH 527D (OLD 28A)	EAST CHAMPARAN	Regular	182	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
268	WITHIN MILESTONE 68 TO MILESTONE 73 ON NH-727(OLD NH28B)	WEST CHAMPARAN	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
269	BETWEEN KM STONE 536 TO 543 ON NH-122 (OLD NH-28)	MUZAFFARPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
270	BETWEEN KM STONE 24 TO KM STONE 29 TOWARDS DARBHANGA ON LHS ON NH 27(OLD NH57)	MUZAFFARPUR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
271	BETWEEN KM STONE 498 TO 504 ON LHS ON NH-27 WHILE MOVING TOWARDS MUZAFFARPUR	MUZAFFARPUR	Regular	172	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
272	BETWEEN KM STONE 40 TO 47 ON NH722	SARAN	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
273	BETWEEN 0.5 KM TO 6 KM FROM JUNCTION OF SH 73, SH 90 AT MASHRAKH ON SH 90 TOWARDS CHHAPRA	SARAN	Regular	115	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
274	WITHIN 4KM FROM MAIN GATE OF RAMPATTI HIGH SCHOOL ON NH-527A TOWARDS MADHUBANI	MADHUBANI	Regular	160	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
275	BETWEEN KM STONE 95 TO 107 LHS ON NH-57(OLD)/NH-27(NEW) WHILE GOING FROM DARBHANGA TO PURNEA	MADHUBANI	Regular	186	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
276	ON NH 27 (OLD NH 57) BETWEEN 0.3 KM TO 5 KM FROM DELHI MORE TOWARDS JHANJHARPUR	DARBHANGA	Regular	220	OPEN	CC	35	35	1225	32	12	Bidding	30	5
277	BETWEEN KM STONE 55 TO 71 ON NH 722	SARAN	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
278	BETWEEN KM STONE 18 TO 25 ON NH722	MUZAFFARPUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN KM STONE 11 TO 18 ON NH722	MUZAFFARPUR	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 4.5 KM FROM KM STONE NUMBER 5 ON NH722 WHILE MOVING TOWARDS MUZAFFARPUR	MUZAFFARPUR	Regular	164	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
281	WITHIN MILESTONE 5 TO MILESTONE 10 ON NH727(OLD NH28B)	WEST CHAMPARAN	Regular	168	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	WITHIN 4 KM FROM METHAWALIYA CHOWK TOWARDS UMADHA CHOWK, CHAPRA TO MAHMADPUR, ON NH-102	SARAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

283	BETWEEN KM STONE 412 AND 427 ON EITHER SIDE ON NH 27 (OLD NH 28)	GOPALGANJ	Regular	172	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
284	BETWEEN KM STONE 83 TO KM STONE 88 TOWARDS SIWAN ON NH-531	GOPALGANJ	Regular	164	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
285	WITHIN 2 KM ON EITHER SIDE OF MANUA PUL POLICE STATION MAIN GATE ON NH727, DISTRICT WEST CHAMPARAN	WEST CHAMPARAN	Regular	152	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
286	BETWEEN KM STONE 32 AND MUZAFFARPUR - VAISHALI DISTRICT BORDER TOWARDS HAJIPUR IN RHS OF NH22 (OLD NH77)	MUZAFFARPUR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
287	ON EITHER SIDE WITHIN 3 KM FROM KM TONE NO.45 ON NH-227A (SIWAN MALMALIYA ROAD)	SIWAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
288	MAUZA DHANAUR AND RAJADIH URF SALEMPUR OF NH-527C	MUZAFFARPUR	Regular	152	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
289	WITHIN 0.5 KM TO 5 KM FROM BARIYARPUR MORE TOWARDS PIPRAKOTHI ON NH28A(NEW 527D)	EAST CHAMPARAN	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
290	WITHIN 3 KM FROM FARDHA FOUR LANE CHOWK TOWARDS SAIDPUR, DIGHWARA - CHAPRA BYPASS, (NH-19 NEW)	SARAN	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
291	IN BETWEEN KM STONE 3 AND 6 ON MOTIHARI-ARERAJ ROAD (SH-54)	EAST CHAMPARAN	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
292	IN BETWEEN KM STONE 55 AND 58 ON NH 227	SITAMARHI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
293	BETWEEN MILESTONE NO. 59 (CHAPRA = 59KM) & MILESTONE NO. 63(PACHRUKHI =13KM) ON NH-531	SIWAN	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
294	WITHIN 0.5 KM TO 3.5 KM FROM BARIYARPUR MORE TOWARDS CHHATAUNI CHAWK ON NH28A(NEW 527D)	EAST CHAMPARAN	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
295	MAUZA BAJITPUR-BOURA ON NH 527C CHORAUT- MAJHAULI ROAD,	SITAMARHI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
296	BETWEEN KM STONE NO. 24 TO 27 ON SH 96 (MANJHI - BARAULI ROAD)	SIWAN	Regular	110	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
297	WITH IN 1 KM FROM HARDIA MORE TOWARDS RAILWAY STATION (ON SUGAR MIL BYEPASS ROAD) WITH IN MUNICIPAL LIMIT OF SIWAN TOWN	SIWAN	Regular	120	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
298	IN BETWEEN BELA MACHHPAKUNI TO BHAGWATIPUR TOWARDS BHERANIYE ON INDO-NEPAL BORDER ROAD	SITAMARHI	Regular	160	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
299	Between ESIC Hospital (Bihta) and Koilwar Bridge on NH 922 , On LHS while going from Patna to Ara	PATNA	Regular	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
300	BETWEEN MILESTONE NO. 14 & MILESTONE NO. 17.5 ON SH-47 (SIWAN - SARFARA ROAD)	SIWAN	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
301	MAUZA MOHANDIH ON NH 227,	SITAMARHI	Regular	159	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
302	WITHIN 4 KM FROM SANTHA MIDDLE SCHOOL MAIN GATE TOWARDS MUSAPUR CHOWK, AVTAR NAGAR THANA, NH-19 NEW, (RHS),	SARAN	Regular	159	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
303	WITHIN 3 KM FROM KATSA MIDDLE SCHOOL MAIN GATE TOWARDS (RHS), ON NH-722, MAKER CHAPRA ROAD,	SARAN	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
304	WITHIN 1.5 KM FROM MAIN GATE OF RAIKIYA MIDDLE SCHOOL URDU BAZAR DARBHANGA ,TOWARDS EKMI ON RAIKIYA MIDDLE SCHOOL URDU BAZAR DARBHANGA TO PRIMARY SCHOOL EKMI ROAD	DARBHANGA	Regular	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
305	WITHIN 2.5 KM FROM CHANDNI CHOWK TOWARDS KANTI ON EITHER SIDE OF NH-27	MUZAFFARPUR	Regular	158	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
306	BETWEEN JUNCTION OF NH-122 AND NH-22 TO BHAGWANPUR CHOWK ON NH-122 (OLD NH-28)	MUZAFFARPUR	Regular	158	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
307	BETWEEN MILESTONE NO. 65 (CHAPRA = 65KM) & MILESTONE NO. 69(GOPALGANJ = 25KM) ON NH-531	SIWAN	Regular	156	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
308	WITHIN MUNUCIPAL AREA OF MINAPUR NAGAR PANCHAYAT	MUZAFFARPUR	Regular	150	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
309	BETWEEN 1 KM TO 2.5 KM FROM HAYAGHAT BLOCK OFFICE TOWARDS ASHOK PAPER MILL(HAYAGHAT TO ASHOK PAPER MILL ROAD) IN HAYAGHAT NAGAR PANCHAYAT	DARBHANGA	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
310	NEW BYPASS OF NH 727A ROAD TOWARD BETIAH FROM GOPALGANJ	GOPALGANJ	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
311	WITHIN 3 KM FROM PRAMANANDPUR UTKRAMIT SCHOOL, MAIN GATE TOWARDS NAYAGAON BAZAR, HAJIPUR CHAPRA ROAD ON (OLD NH-19),	SARAN	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
312	AT MAUZA BISHUNPUR ON SH-87, BLOCK- PARIHAR	SITAMARHI	Regular	150	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
313	DELHI MORE TO INCOME TAX OFFICE VIA BELA MORE	DARBHANGA	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
314	ON NH 27 (OLD NH57) BETWEEN 0.3 KM TO 4 KM FROM JUNCTION OF EKMI- SHOBHAN ROAD ON NH 27 TOWARDS DELHI MORE	DARBHANGA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
315	WITHIN 2 KM FROM MAIN GATE OF MIDDLE SCHOOL DHABOLIYA TOWARDS KUSHESHWAR ASTHAN ON KUSHESHWAR ASTHAN TO PHOLTORA GHAT ROAD	DARBHANGA	Regular	130	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
316	BETWEEN 2 KM TO 5 KM FROM MAIN GATE OF LAXMIPUR BUS STOP, MADHEPUR ON LAXMIPUR - BHEJA RD, ON NH- 527 A TOWARDS BHEJA	MADHUBANI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

	T											, , , , , , , , , , , , , , , , , , , ,		
317	BETWEEN KILOMETRE STONES 3 KM MILSTONE 13 ON BETTIAH-CHANPATIA- NARKATIGANJ STATE HIGHWAY ON SH 105	WEST CHAMPARAN	Regular	150	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
318	WITHIN 5 KM FROM CHIRAND MORE TOWARDS URKARMIT HIGH SCHOOL, JILKABAD ON SH-46, ON CHIRAND TO GARKHA ROAD,	SARAN	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
319	IN BETWEEN KM STONE 9 AND 15 ON MOTIHARI-DHAKA ROAD (SH-54)	EAST CHAMPARAN	Regular	130	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
320	ON LHS OF MUZAFFARPUR BYPASS ROAD WHILE GOING FROM MADHAUL (JUNCTION OF MUZAFFARPUR BYPASS ROAD AND NH-22) TO LASKARIPUR (JUNCTION OF MUZAFFARPUR BYPASS ROAD AND NH-27)	MUZAFFARPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
321	ON RHS OF MUZAFFARPUR BYPASS ROAD WHILE GOING FROM MADHAUL (JUNCTION OF MUZAFFARPUR BYPASS ROAD AND NH-22) TO LASKARIPUR (JUNCTION OF MUZAFFARPUR BYPASS ROAD AND NH-27)	MUZAFFARPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
322	Within municipal limit of Narkatiyaganj (excluding SH 105), West Champaran	WEST CHAMPARAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
323	WITHIN 2 KM FROM RAXAUL NAHAR CHOWK TOWARDS ADAPUR ON RAXAUL-SHYAMPUR NAHAR ROAD	EAST CHAMPARAN	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
324	WITHIN TWO KM FROM ZEROMILE TO SHEOHAR -SUGIA- MOTIHARI RWD ROAD IN SHEOHAR MUNICIPAL	SHEOHAR	Regular	140	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
325	WITHIN MUNICIPAL LIMIT OF SITAMARHI TOWN ON SH52	SITAMARHI	Regular	130	OPEN	CC	20	20	400	32	12	Bidding	30	5
326	Within Municipal limit of Gaya Town on main or arterial road and not on National Highway and State Highway (Within ward nos 41-53)	GAYA	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
327	SONBARASA, BLOCK GAUNAHA	WEST CHAMPARAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
328	MAUZA-DAKHARAM,BETWEEN HANUMANNAGAR AND SONRA POKHAR ON HANUMANNAGAR TO SONRA POKHAR ROAD	DARBHANGA	Regular	125	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
329	WITHIN 0.5 KM TO 3.5 KM FROM CHHATAUNI CHOWK TOWARDS MADHUBANIGHAT ON MOTIHARI-MADHUBANIGHAT- PAKARIDAYAL ROAD.	EAST CHAMPARAN	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
330	WITHIN MUNICIPAL LIMIT OF MADHOPUR-SUSTA NAGAR PANCHAYAT ON KACHCHI-PAKKI ROAD	MUZAFFARPUR	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
331	BETWEEN 0.5 KM TO 3 KM FROM KHUTTI CHOWK TOWARDS BAHADURGANJ ON NH327E (LHS)	ARARIA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
332	WITHIN 1.5 KM FROM HANUMAN MANDIR (BAHADURPUR KURMI TOLA NAHAR) TOWARDS ARERAJ ON BAHADURPUR-DARIYAPUR ROAD	EAST CHAMPARAN	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
333	WITHIN 2 KM FROM MUNICIPALTI CHOWK TOWARDS CHAPRA CENTRAL JAIL, ON MUNICIPALTI CHOWK TO CHAPRA CENTRAL JAIL ROAD VIA THANA CHOWK (WITHIN MUNICIPAL AREA)	SARAN	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
334	WITHIN MUNICIPAL LIMIT OF LAURIYA (NOT ON SH/NH)	WEST CHAMPARAN	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
335	Between 2 KM to 5 KM from Beri chowk on SH 56 towards Kusheshwar Asthan	DARBHANGA	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
336	WITHIN 7 KMS FROM INTEGRATED CHECK POST MAIN GATE, RAXAUL TOWARDS RAMGARHWA ON BYEPASS ROAD OF NH 527D	EAST CHAMPARAN	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
337	WITHIN 5 KM FROM HARDIYA CHOWK, ARERAJ TOWARDS SANGRAMPUR ON ARERAJ- SANGRAMPUR ROAD(ON SH)	WEST CHAMPARAN	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
338	IN BETWEEN KM STONE 33 AND 39 ON NH22 (OLD NH 77) ON MUZAFFARPUR TO SONABARSA ROAD	SITAMARHI	Regular	158	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
339	WITH IN 1 KM FROM MILE STONE NO.9 (SIWAN =19KM) ON SIWAN - PAIGAMBERPUR ROAD (WITH IN MUNICIPAL LIMIT) , BLOCK - MAHARAJGANJ	SIWAN	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
340	WITHIN 3 KM FROM MAIN GATE OF MIDDLE SCHOOL, GHOGHWALIYA, TOWARDS HASULAHI BAZAR, ON JALALPUR TO KOPA ROAD, BLOCK - JALALPUR	SARAN	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
341	BETWEEN KILOMETER STONE NO 24 & 27 ON MOTIHARI-ARERAJ ROAD (SH 54)	EAST CHAMPARAN	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
342	WITHIN MUNICIPAL LIMIT OF RAMNAGAR (NOT ON SH)	WEST CHAMPARAN	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
343	MAUZA PAMRA BLOCK DUMRA	SITAMARHI	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
344	BETWEEN KM STONE NUMBER 4 AND KM STONE NUMBER 9 TOWARDS DARBHANGA ON NH27 (OLD NH57)	MUZAFFARPUR	Regular	210	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	BETWEEN 2 KM TO 6 KM FROM SINGHWARA BLOCK OFFICE MAIN GATE	DARBHANGA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
345	TOWARDS BHARWARA ON SH 97	DAKBHANGA												

347	ON NH 227 (OLD NH 104) BETWEEN 0.3 KM TO 3 KM FROM JUNCTION OF	MADHUBANI	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
348	BASOPATTI-CHHATAUNI ROAD ON NH 227 TOWARDS JAINAGAR BETWEEN 0.3 KM TO 3 KM FROM GHOGHRAHACHATTI CHOWK TOWARDS	DARBHANGA	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
349	JALE BETWEEN KM STONE NUMBER 3 AND KM STONE NUMBER 7 TOWARDS SITAMARHI ON NH22 (OLD NH77)	MUZAFFARPUR	Regular	220	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
350	WITHIN 2 KM FROM MAIN GATE OF RAJKIYA MADHYA VIDYALAY DATH TOWARD BENIPUR ON SH 56	DARBHANGA	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
351	Within munucipal area of Turki nagar panchayat from Turki mela chowk towards BASAULI	MUZAFFARPUR	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
352	WITHIN 4 KM FROM DHENKU MORE, MARHOWRAH, TOWARDS TRAIYA BAZAR, ON SH- 73	SARAN	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
353	BETWEEN KM STONE 404 AND 411 ON EITHER SIDE ON NH 27 (NH 28 OLD)	GOPALGANJ	Regular	190	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
354	FROM KM STONE 67 TO KM STONE 75 ON SH 74	MUZAFFARPUR	Regular	110	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
355	WITHIN 2.5 KM FROM LEPROSY MISSION CHOWK TOWARDS JAIL CHOWK IN MUZAFFARPUR TOWN	MUZAFFARPUR	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
356	FROM MILESTONE 13 TO MILESTONE 15 ON LAURIYA- RAMNAGAR MARG, MAUZA-PAKRI, BLOCK- RAMNAGAR	WEST CHAMPARAN	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
357	VILL: NARHAIYA , BLOCK-LAUKAHI ON RHS OF NH-57 (DARBHANGA TO FARBISGANJ)	MADHUBANI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
358	BETWEEN 0.3 KM TO 3 KM FORM KAKRAUL CHOWK RAHIKA TOWARDS DELHI MORE ON NH 527B	MADHUBANI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
359	ON SH 75 BETWEEN 0.3 KM TO 3 KM FROM MABBI FLYOVER CROSSING TOWARDS KAMTAUL	DARBHANGA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
360	FROM SANGRAMPUR CHOWK TOWARD MACCHARGAWN BAZZAR ON PWD ROAD WITHIN 2KM, MAUZA- SANGRAMPUR, BLOCK-JOGGAPATTY	WEST CHAMPARAN	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
361	Between 1 Km to 6 Km from Kaimur Stambh towards Mohania on NH 219 (Bhabua-Mohania Road)	KAIMUR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
362	BETWEEN KM STONE 71 TO 83 ON SH 73	SARAN	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
363	MAUZA SITLAPUR ON DUDHAIRA-PURAINA ROAD, BLOCK MAINATAND, WEST CHAMPARAN	WEST CHAMPARAN	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
364	WITHIN 4 KM FROM METHAWALIYA CHOWK TOWARDS UMADHA CHOWK, CHAPRA TO MAHMADPUR, SADAR , NH-102	SARAN	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
365	WITHIN 3 KM FROM END POINT OF SARHA FLY OVER TOWARDS BAZAR SAMITI, CHAPRA TO MASHRAKH ROAD, SH-90	SARAN	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
366	Within 6 km on NH-527C from Majhauli chowk NH-27 Crossing towards Charaut	MUZAFFARPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
367	BETWEEN 0.3 KM TO 3 KM FROM JUNCTION OF SH 75 AND UCCHAITH - BASBARIYA ROAD TOWARDS BASAITHA ON SH 75	MADHUBANI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
368	SONAUL SULTAN ON PIPRAHI- BAIRGANIYA PWD ROAD	SHEOHAR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
369	Between 2 Km to 10 Km from Sheoganj More (Intersection of NH-19 and SH- 68) On NH-19 (old NH2), while going towards Kolkata from Delhi	AURANGABAD	Regular	205	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
370	Between Km stone number 79 and 84 on NH-922 (Old NH-84) (Ara - Buxar Road)	BHOJPUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
371	Between Km stone number 1 to 4 on SH-102 (Bihiya - Jagdishpur Road)	BHOJPUR	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
372	Within 4 Km from Middle School Chandaut Main Gate towards Dev on SH- 101 (On Amba - Dev Road)	AURANGABAD	Regular	126	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
373	Within Municipal Limits of Aurangabad Town on Karma Road	AURANGABAD	Regular	180	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
374	Between Km chainage 83 and Km chainage 86 on NH 20 (Old NH 31)	NAWADA	Regular	220	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
375	Between KM stone no 16 and 19 on SH 4 (Hulasganj-Khizarsarai-Gaya road)	GAYA	Regular	110	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
376	Between Km stone number 67 and 70 on NH-922 (OLD NH-84) on RHS while going from Ara to Buxar	BHOJPUR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
377	Between Km stone number 02 and 11 on NH-319 (Old NH-30) (Ara - Mohania Road)	BHOJPUR	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
378	Between Km stone 1 to Km Stone 3 on SH-8 while going from Hisua towards Nawada	NAWADA	Regular	153	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
379	Between 0.5 Km and 3.0 Km from Main Gate of Utkramit High School Narayanpur, Anchal-Jagdishpur, Bhojpur on NH-319 (Old NH-30), On either side while going from Ara towards Jagdishpur	BHOJPUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

380	Within 3 Km from main gate of RP (Ram Pyari) Girls High School Darihat towards Dehri on SH 15 (Nasriganj-Dehri Road)	ROHTAS	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
381	Between Km Stone 31 to 33 on SH-81	BHOJPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
382	Between 1 Km to 8 Km from intersection of NH 131G & NH139 towards Bihta on NH 131G (Old SH-78, Bihta- Sarmera Road)	PATNA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
383	Between KM stone number 93 and 99 on NH-922 (OLD NH-84) on RHS while going from Ara to Buxar	BUXAR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
384	Between Km Chainage 52 & Km Chainage 56 on new NH-22 (While going from Patna to Gaya)	JEHANABAD	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
385	Between 1Km from Didarganj Toll Plaza to Km Stone 199 on NH-31 (Old NH- 30)	PATNA	Regular	230	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
386	Between KM stone number 93 and 106 on NH-922 (OLD NH-84) on LHS while going from Ara to Buxar	BUXAR	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
387	Within Municipal limits of Jehanabad Town on main or arterial road (Not on National Highway)	JEHANABAD	Regular	100	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
388	On Sudarshan Path, Between Mughal Pura Chowki, Mughal Pura and Patna Saheb Railway Station	PATNA	Regular	150	OBC	DC	30	20	600	32	75	Draw of Lots	15	4
389	Between 1 Km to 7 Km from exit gate of Jat Dumari Halt towards exit gate of Neema Halt on Old NH-83 (Not on New NH-22)	PATNA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
390	Between Chandasi More and intersection of SH-1 and SH-78 on SH-1,On RHS while going from Patna to Masaurhi	PATNA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
391	Between 0.5 Km and 3.5 Km from Main Gate of Smiling Kids School, Dumraon while going from Smiling kids School, Dumraon towards Kopwa Village	BUXAR	Regular	115	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
392	Between Km Stone 2 and 5 on SH-04 (Daniyawan -Hilsa Road)	PATNA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
393	Between Km Stone No 103 to Km Stone No 110 On NH-139 (Patna - Aurangabad Road)	AURANGABAD	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
394	Between 0.3 Km to 9 Km from Imamganj more (Intersection of NH-19 and SH-69) on NH 19(Old NH2) towards Dobhi	GAYA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
395	Between Km Chainage 40 to Km Chainage 45 on new NH-22 (Patna - Gaya Road)	JEHANABAD	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
396	Between 1 Km to 5 Km from Maa Mundeshwari Gate towards Bhabua on NH- 219 (Mohania-Bhabua Road)	KAIMUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
397	Between Km Stone 60 to 70 on NH 139 (Patna- Aurangabad Road)	ARWAL	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
398	Between Km stone number 63 and 66 of NH-922 (Old NH 84) (Ara - Buxar Road)	BHOJPUR	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
399	Between Bhagat Singh Chowk (Phulwari) & AllMS Gate No 3 on Phulwari- AllMS Main Road	PATNA	Regular	150	OPEN PH	DC	30	30	900	32	75	Draw of Lots	15	5
400	Between Km Chainage 11 & Km Chainage 15 on new NH-22 (While going from Patna to Gaya)	PATNA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
401	Between Km Chainage 156 to KM Chainage 166 on new four lane NH-31	PATNA	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
402	Between Km Stone No 145 to Km Stone No 155 on NH 139	AURANGABAD	Regular	182	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
403	Within 2 Km from Mithapur Bus Stand More On Patna Bypass, On LHS while going towards Bakhtiyarpur	PATNA	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
404	Between 1 Km to 4 Km from intersection of NH-22 & Patna-Gaya Railway line at Village-Mahuli on NH-22 (On LHS while going towards Patna from Gaya)	PATNA	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
405	Within 2 Km from Adampur Lane Nahar (Akhtiyarpur) towards Dulhin Bazaar on SH-2	PATNA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
406	Between Km stone 16 to Km stone 21 on NH-139 (Patna- Aurangabad Road)	PATNA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
407	Between Chainage Number 940 to 946 on NH-19,On RHS while Going towards Delhi from Aurangabad	AURANGABAD	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
408	Within 2 Km from intersection of Patna Bypass and Bhootnath- Kachhuwara road on Bhootnath-Kachhuwara road	PATNA	Regular	160	OBC	DC	30	20	600	32	75	Draw of Lots	15	4
409	Within 5 Km from intersection of SH 78 & NH 431 on SH 78, On LHS while going from Daniyawan towards Beldarichak	PATNA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
410	Between Km stone 24 to 34 on NH-139 (Patna- Aurangabad Road)	PATNA	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
411	Between 0.3 Km to 7 Km from intersection of Gaya-Cherki-Sherghati Road and NH 22 on NH 22 towards Jehanabad	GAYA	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
412	Between 0.3 Km to 3 Km from Main gate of Pilot Baba Mandir towards Dehri on old GT Road (Within Sasaram Municipal limit)	ROHTAS	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
413	Between 100 Meter from Main Gate of Utkarmit Middle School, Machriawan,Fatuha and Km Stone 1 On NH-431 (Old NH-30A)	PATNA	Regular	220	OPEN	CC	35	35	1225	32	12	Bidding	30	5

414	Between Km Stone 209 and 211 on NH-31 (Old NH-30), On LHS while going from Patna towards Bakhtiyarpur	PATNA	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
415	Between Km Stone 6 to Km Stone 8 on SH 67 (Sheosagar - Chenari Road)	ROHTAS	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
416	Within 4 Km from Punjab National Bank, Gurua towards Guraru on SH-69	GAYA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
417	Within 5 Km from Jaganpura More on Patna Bypass towards Chipura on Jaganpura-Chipura Road	PATNA	Regular	200	OPEN	DC	30	20	600	32	75	Draw of Lots	15	5
418	within 2 Km from Main Gate of Malsalami Thana towards Deedarganj on Ashok Raipath	PATNA	Regular	180	OPEN	DC	30	20	600	32	75	Draw of Lots	15	5
419	ASTION Relipatii Between Km Stone 4 to Km Stone 13 on NH-119 (old NH-2C) Dehri - Tilouthu Road	ROHTAS	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
420	Between 0.5 Km to 3 KM on either side of Gazipur Chowk (Intersection of NH	VAISHALI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
421	322 and Gazipur-Desari Road) on NH 322 Within Municipal Limit of Hajipur Town On Jadua Road via Bazar Samiti	VAISHALI	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
422	On Ashiana- Digha Road, Between Ashiana More (on Bailey Road) and Xaviers	PATNA	Regular	150	OPEN	DC	30	20	600	32	75	Draw of Lots	15	5
423	College More (On Danapur-Bankipur Road) Between Km Stone No 1 and 4 on NH 22 (Old Nh-77) (On RHS while going	VAISHALI	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
424	from Hajipur to Muzaffarpur) Between 1 Km to 14 Km from Railway Crossing Bandhua on SH-70 towards	GAYA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
425	Fatehpur Between Km Stone 120 to Km Stone 125 On NH-139 (Patna -Aurangabad Road)	AURANGABAD	Regular	193	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
426	Road) Between Km Stone No 7 and 9 on NH 22 (Old NH-77) (On LHS while going from Hajipur to Muzaffarpur)	VAISHALI	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
427	Between Km Chainage 182 to Km Chainage 192 on new four lane NH-31	PATNA	Regular	210	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
428	Within 3 Km from intersection of Bailey road & Patli Path towards Jagjivan	PATNA	Regular	150	OPEN	DC	30	20	600	32	75	Draw of Lots	15	5
429	stadium on Nahar Road (under Patli Path overbridge) Within 2 Km to 7 Km from Ghughritad chowk on NH 120 towards Wazirganj	GAYA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
430	on LHS Between 0.3 Km to 5 Km from Dobhi More (Intersection of NH-19 & Dobhi Gaya Road) on NH-22 (Old NH 83), On LHS while going towards Bodhgaya	GAYA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
431	Within 2 Km from Surya Mandir Ashopur on Vijay Singh Yadav Path towards The Tribhuvan School	PATNA	Regular	150	OPEN	DC	30	20	600	32	75	Draw of Lots	15	5
432	Between 0.3 Km to 2 Km from entry gate of Rajkiyakrit Madhya Vidyalaya ,Waina, Modanganj on NH-110 towards Kako Police Station, Jehanabad	JEHANABAD	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
433	Between Chainage Number 947 to 956 on NH-19,On RHS while Going towards Delhi from Aurangabad	AURANGABAD	Regular	235	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
434	Between Km Stone 77 to 87 on NH-139 (Patna- Aurangabad Road)	ARWAL	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
435	Between Beur more Anishabad and Mithapur Bus Stand more on Patna Bypass	PATNA	Regular	370	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
436	Between Km Chainage 21 to Km Chainage 24 on NH-131G (Old SH 78, Bihta - Sarmera Road)	PATNA	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
437	Between Km stone number 24 to 29 on SH-102 (Piro- Jagdishpur Road)	BHOJPUR	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
438	Between 1 Km to 5 Km from intersection of NH 319 (Old NH 30) and NH 19 (Old NH 2) On NH 319 (Old NH 30), On LHS while going towards Kochas from Mohania	KAIMUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
439	Within 3 Km from Bageecha Resort Main Gate on NH-19 (Old NH 2), LHS while going from Dehri to Kudra	ROHTAS	Regular	210	OPEN	CC	35	35	1225	32	12	Bidding	30	5
440	Between 0.5 KM to 3 KM on either side of Gandhi Chowk (Intersection of NH 122B & Gazipur-Desari Road) on NH-122B(Old SH-93)	VAISHALI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
441	Between 0.3 Km to 3 Km from Bhakharua More,Daudnagar (Intersection of NH-139 & Daudnagar-Goh Road) towards Aurangabad on NH-139	AURANGABAD	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
442	Between 0.3 Km to 4 Km from Imamganj More (Intersection of NH-19 & SH- 69) towards Imamganj on SH-69	GAYA	Regular	115	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	os, conacas inidinganj on sir os		Regular		1				i					5

444	Between Km Stone No 38 and Km Stone No 42 on NH-131G (Old SH 78, Bihta - Sarmera Road),	PATNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
445	Between Km Stone 89 to 99 On NH-139 (Patna-Aurangabad Road)	AURANGABAD	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
446	Between 1 Km to 10.5 Km from Chatra More (Intersection of NH-19 & Dobhi - Huntergunj road) towards Huntergunj on NH-22	GAYA	Regular	225	OPEN	CC	35	35	1225	32	12	Bidding	30	5
447	Between 1 Km to 4 Km from Intersection of SH-12 & SH-102 (Lohia / Piro Golambar) towards Charpokhari on SH-12	BHOJPUR	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
448	Between KM Stone No 33 and 36 On SH 74 (Hajipur-Lalganj Road)	VAISHALI	Regular	100	OPEN CC 2	DC	35	35	1225	32	75	Draw of Lots	15	5
449	Between Km Stone number 44 and 50 on NH-319 (Ara- Mohania Road)	BUXAR	Regular	160	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
450	Between Km Chainage 12 to Km Chainage 14 on NH-131G (Old SH 78, Bihta - Sarmera Road)	PATNA	Regular	220	OPEN	CC	35	35	1225	32	12	Bidding	30	5
451	Between 6 Km to 11 Km from Imamganj-Raniganj More (Intersection of SH-69 & Imamganj-Raniganj Road) towards Dumariya on SH-69	GAYA	Regular	111	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
452	Within Daudnagar Nagar Parishad limit on Barun-Daudnagar Road	AURANGABAD	Regular	172	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
453	Between Km Stone 80 to 85 on NH 110 (Arwal-Jehanabad Road)	ARWAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
454	Between Km Stone 135 to 141 On NH-120 (Gaya-Daudnagar Road)	AURANGABAD	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
455	Within 3 Km on either side of Madanpur Police Station Main gate on SH-101 (Deo- Madan Pur Marg)	AURANGABAD	Regular	112	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
456	Within Municipal limits of Masaurhi Town on main or arterial Road	PATNA	Regular	100	ST	CFS	30	20	600	0	0	Draw of Lots	0	3
457	Between Km Stone No 135 to Km Stone No 137 on NH 139, On LHS while Going towards Hariharganj from Aurangabad	AURANGABAD	Regular	245	OPEN	СС	35	35	1225	32	12	Bidding	30	5
458	Between Chainage Number 947 to 956 on NH-19,On LHS while Going towards Delhi from Aurangabad	AURANGABAD	Regular	230	OPEN	CC	35	35	1225	32	12	Bidding	30	5
459	Between Km stone 39 to 43 On SH-69 (Dumariya - Ranitalab Road)	GAYA	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
460	Between 0.3 to 15 km from intersection of Old NH 82 and SH-4 towards Khizarsarai on SH-4	GAYA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
461	Between 1 Km to 5 Km from Intersection of NH-922 and SH-81(at Sakaddi) on NH-922 towards Ara	BHOJPUR	Regular	230	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
462	Between 1Km to 4 Km from Intersection of SH-78 And NH-431 towards Narsanda on NH-431(Old NH-30A)	NALANDA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
463	Between 1 Km to 6 Km from Shiv Mandir,Bhaghar,Barachatti,while going towards Bhalua on NH-19	GAYA	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
464	Between 1 to 4 Km from Intersection of NH-20 and NH-431 towards Narsanda on NH-431(Old NH30A)	NALANDA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
465	Within 2 Km from Main Gate of Bihta High School towards English Bridge in Bhojpur District on SH 81	BHOJPUR	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
466	Between 1 Km to 10 Km on either side of Panchanpur Police Station Main Gate on NH 120	GAYA	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
467	Between 1 Km to 5 Km from Patel Chowk towards Chainpur on NH-219 (Bhabua-Chainpur Road)	KAIMUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
468	Between 1 Km to 4 Km from Panchanpur Police Station Main Gate towards Tekari on SH 69	GAYA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
469	Between Km chainage 95 to Km chainage 98.5 on NH-20 (Old NH 31)	NAWADA	Regular	220	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
470	Between 1 Km to 5 km from Main gate of Amar Jyoti School,Bodhgaya towards Jehanabad on NH 22	GAYA	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
471	Between 1 Km to 3 Km from Shivala More on NH-922 (Patna- Ara Road)	PATNA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
472	Between 1 Km to 8 Km from intersection of NH120 and NH 22, On RHS while going towards Jehanabad on NH 22	GAYA	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
473	Between Km stone number 57 and 62 of NH-922(Old NH 84) (Ara - Buxar Road)	BHOJPUR	Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
474	Within Municipal Limit of Buxar Town on any MDR Road	BUXAR	Regular	130	OBC PH	DC	20	20	400	32	55	Draw of Lots	15	4
475	Between 0.3 Km to 4Km from Main Gate of Madhya Vidalaya Karmoni (Padari) towards Gaya On NH 22	GAYA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
476	Between 1 Km to 9 Km from Dobhi More (Intersection of NH- 22 and NH-19) while going towards Bhalua on NH-19	GAYA	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
477	Between Km chainage 49 and Km chainage 51 on NH 120 (old NH82)	NAWADA	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
478	Between Km stone 35 to 45 on NH-139 (Patna- Aurangabad Road)	PATNA	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
479	Between 0.5 Km to 9 km from Karmain More (Intersection of NH-19 & SH-69) towards Gurua on SH 69	GAYA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
480	Within 0.3 to 2 Km from Intersection of Domuhan-Bodhgaya Road and Sujata Byepass road towards Rajapur on Sujata Byepas Road	GAYA	Regular	105	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5

481	Between 0.3 Km to 4 Km from Chamunda Gate, Rupo (Rupau) towards Roh Bazar on SH-82	NAWADA	Regular	115	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
482	After 100 Meters from entry gate of Pratibha Pallavan Teachers Training College, Barni to entry gate of Dhanarua Police station on SH1 while going from Masaurih towards Dhanarua	PATNA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
483	Within Municipal limit of Gaya Town on main or arterial road and not on National Highway and State Highway (Within ward nos 21 -40)	GAYA	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
484	Within 2 Km to 7 Km from Ghughritad chowk on NH 120 towards Wazirganj on RHS	GAYA	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
485	Between 0.3 Km to 3 Km from Main Gate of Rajkiya Prathamik Vidalaya Budhaul, Amas on NH 19 (old NH-2)	GAYA	Regular	225	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
486	Between Saguna More and Danapur Railway Station	PATNA	Regular	150	OBC	DC	30	20	600	32	75	Draw of Lots	15	4
487	Within 0.3 Km to 5 Km from intersection of NH-31 and NH-431 at Barh on NH-431	PATNA	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
488	Between Km Chainage 16 to Km Chainage 18 on NH 131G (Old SH 78, Bihta - Sarmera Road)	PATNA	Regular	180	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
489	Within 3 Km on either side from main gate of Maa Tarachandi Temple on NH- 19 (old NH2), On LHS while going from Kudra towards Dehri	ROHTAS	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
490	Between 0.3 Km to 4.5 Km from Main gate of IHM (Institute of Hotel Management) Bodhgaya towards Dobhi on NH-22 (Old NH 83)	GAYA	Regular	225	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
491	Between 0.3 Km from Rajgir Bypass Crossing and Gagandullah Shah Masjid , Within Muncipal Limits of Biharsharif Town	NALANDA	Regular	173	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
492	Between 3 Km to 9 Km from Intersection of NH 319 (Old NH 30) and NH 19 (Old NH 2), on NH 319 (Old NH 30), On RHS while going towards Kochas from Mohania	KAIMUR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
493	Between 1 Km to 6 Km from Intersection(Underpass) of NH-122B and NH-22 on NH-122B(Old SH-93) towards Mahnar	VAISHALI	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
494	Between 2 Km to 20 Km from end of Karmanasa River Bridge on NH 19 (Old NH 2),On LHS while going from Delhi to Kolkata	KAIMUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
495	Between 0.3 Km to 3 Km on either side of Pakri Baraman-Warsaliganj more on SH-8	NAWADA	Regular	116	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
496	Between KM Stone No 13 and 21 on NH 22 (Old NH-77) (On RHS while going from Hajipur to Muzaffarpur)	VAISHALI	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
497	Between Km Stone 43 to Km Stone 48 on SH-71 (Jahanabad - Parwatipur Road)	NALANDA	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
498	Between Km chainage 53 and Km chainage 55 on NH 120 (old NH82)	NAWADA	Regular	220	OPEN	CC	35	35	1225	32	12	Bidding	30	5
499	Between Km Chainage 16 to Km Chainage 19 on new NH-22 (While going from Patna to Gaya)	PATNA	Regular	220	OPEN PH	CC	35	35	1225	32	12	Bidding	30	5
500	Within 4 Km from main gate of Nokha Block Office towards Sasaram on SH 12 (Sasaram-Bikramganj Road)	ROHTAS	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
501	Between KM Stone No 6 and 12 on NH 22 (Old NH-77) (On RHS while going from Hajipur to Muzaffarpur)	VAISHALI	Regular	252	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
502	Between Km Chainage 54 and Karigaon More On NH 20 (Old NH-31),On RHS while going towards Patna from Ranchi (Not on Service Lane/Slip Road)	NAWADA	Regular	220	OPEN	CC	35	35	1225	32	12	Bidding	30	5
503	Within 3 Km from end of Lalganj Nahar Bridge towards Nokha on SH 12 (Sasaram - Nokha Road)	ROHTAS	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
504	Between Km Stone 15 to 18 on SH-15 (Dehri - Nasriganj Road)	ROHTAS	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
505	Between 1 Km to 8 km from intersection of NH-120 and Leftover Portion of Old NH-82 (KM stone 0), while going towards Nawada on NH-120	GAYA	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
506	Between Km stone 46 to 52 on NH-139 (Patna- Aurangabad Road)	PATNA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
507	Within 2 Km on either side of Bank of Baroda, Chiraura Branch on NH-139	PATNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
508	Between Km Stone 47 to Km Stone 52 on SH-78 (Bihta - Sarmera Road)	NALANDA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
509	Between 0.5 to 4 Km from Bikramganj Chowk (Intersection of SH-12 and NH- 120) towards Malyabag on NH-120	ROHTAS	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
510	Between Shri Ram Janki Mandir Thakurbari Amhara and Datiyana R P College on SH-2 (Bihta- Bikram Road)	PATNA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
511	Between 2 Km to 13 km from Chakand Railway Crossing towards Jehanabad on NH- 22	GAYA	Regular	155	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5

512	Between 3 Km to 10 Km from Tilouthu Toll towards Banjari on NH-119 (old NH-2C) while going from Dehri to Banjari	ROHTAS	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
513	Between KM stone 23 to KM stone 27 on SH-04	NALANDA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
514	Within 0.3 Km to 8 Km from Bhindas More (Intersection of NH-120 and Bhindas-Nawada-Ragir Road) on NH-120, RHS while going towards Wazirganj	GAYA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
515	Between Km stone 76 to Km stone 81 on SH-78 (Bihta - Sarmera Road)	NALANDA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
516	On Atal Path (including service lane), Between Hotel Chanakya and Junction of Atal Path & Marine drive	PATNA	Regular	150	OPEN	DC	30	20	600	32	75	Draw of Lots	15	5
517	Within Patna Municipal Limit on main or arterial roads (Not on National Highway)	PATNA	Regular	150	OPEN	DC	30	20	600	32	75	Draw of Lots	15	5
518	Between 9 to 12 KM from Kochas Chowk (Intersection of NH-319 and SH-17) on SH-17, while going towards Sasaram	ROHTAS	Regular	107	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
519	Between Km Stone 70 and Km Stone 73 on SH 12	ROHTAS	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
520	Between 3 Km to 7 Km from Believers Church, Chaukhanda Chitouli towards Kochas on SH 17 (Sasaram-Kochas Road)	ROHTAS	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
521	Between 0.5 Km to 4 Km from Malyabag Chowk (Intersection of NH-120 and NH-319) On NH-120 , while Going towards Bikramganj	ROHTAS	Regular	165	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
522	Between KM Stone No 23 and 25 On SH 74 (Hajipur-Lalganj Road)	VAISHALI	Regular	155	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
523	Between Chainage No. 147 to Chainage No. 149 on NH 20(LHS while going from Biharsharif to Bakhtiyarpur)	NALANDA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
524	Between 0.5 Km to 3 Km from Belwaiyan Chowk (Intersection of SH 15 & NH 319) towards Natwar on SH 15	ROHTAS	Regular	104	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
525	Between Km Stone No 6 and 8 on SH 49 (Hajipur-Mahua Road)	VAISHALI	Regular	194	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
526	Between 1 Km to 5 Km from Intersection of NH-82 (New Bypass For Biharsharif) and NH-20 towards Pawapuri on NH-20	NALANDA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
527	Between 1 Km to 4 Km From Intersection of Khusrupur Nagarnausa Road and NH-431(Old NH-30A) towards Noorsarai on NH-431(Old NH-30A)	NALANDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
528	Between Km Stone No 20 and 30 on NH 22 (Old NH-77) (On LHS while going from Hajipur to Muzaffarpur)	VAISHALI	Regular	230	OPEN	CC	35	35	1225	32	12	Bidding	30	5
529	Within 3 Km From Intersection of Nijay Gonwan Road and NH-431 (old NH - 30A) towards Saksohrara	NALANDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
530	Between Main Gate of Sub Divisional Office, Rajgir (Anumandal Karyalay) and 1 KM before Intersection of Rajgir Byepass at NH 120	NALANDA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
531	Between Km stone 50 to KM stone 55 on SH-71 (Jahanabad - Parwatipur Road)	NALANDA	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
532	Between 0.3 Km to 7 Km from Anugrah Narayan Sahdev Plus 2 School, Suggi on NH-19 (Old NH 2), while going towards Kolkata from Delhi	GAYA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
533	Between Chainage No. 136 to Chainage No. 140 on NH-20	NALANDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
534	Between Km Stone 67 to Km Stone 73 on SH-71 (Jahanabad - Parwatipur Road)	NALANDA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
535	Between 0.4 to 5 Km from Kudra Flyover on NH-19 (Old NH-2),On LHS while going from Sasaram to Mohania	KAIMUR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
536	Within 5 KM from intersection of NH-33 (Old NH 110) and SH-69 towards Paliganj on SH-69	ARWAL	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
537	Within 2 Km from Wena Police Station on NH-20, On LHS while going towards Harnaut	NALANDA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
538	Between 1 Km to 4 Km from Bagdiha more (intersection of SH 69 and Gaya- Rafiganj road) towards Ahiyapur on SH-69	GAYA	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
539	With in Muncipal Limit of Aurangabad Town on Aurangabad Rafiganj Marg	AURANGABAD	Regular	190	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
540	Between 1 Km to 5 Km from Intersection of NH-19 (Old NH 2) and NH-319 (Old NH30) on NH19 (Old NH2), On LHS while going from Delhi to Kolkata	KAIMUR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
541	Within 3 Km on either side from Main Gate of Uchchtar Madhyamik Vidyalaya Dhamni,Kauwakol on SH-82	NAWADA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
542	Between 1 to 10 Km from Malyabag Chowk (Intersection of NH 120 and NH 319) on NH 319, While Going towards Mohania from Ara	ROHTAS	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
543	Within 5 Km from Gandhi Chowk Hazrat Jandaha (Intersection of Patori Road and NH 322) on NH 322	VAISHALI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
544	Between KM stone number 122 to 108 on NH-922 (OLD NH-84) on either side while going from Buxar to Ara	BUXAR	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

	· · · · · · · · · · · · · · · · · · ·													
545	WITHIN Municipal Limit of Madhubani Town.	MADHUBANI	Regular	165	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
546	Within 2 Kms on either side of main entry gate of Union Bank of India ,	JEHANABAD	Regular	160	Open	DC	35	35	1225	32	95	Draw of Lots	15	5
	Nehalpur, Jehanabad on NH 110	JEHANABAD												
547	Between Km Chainage 172 to Km Chainage 180 on new four lane NH-31	PATNA	Regular	180	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
548	Between 0.3 Km to 2.5 Km from Dhudhali More(Intersection of NH-20 and Dhudhail-Nemdarganj Road) on NH 20 (Old NH31),On LHS while going from Patna to Ranchi	NAWADA	Regular	220	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
549	Between Chainage No. 132 to Chainage No. 130 at NH -20 Towards Bakhtiarpur	NALANDA	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
550	Beween Kanya Madhya Vidyalaya Nutan Sonbarsha main gate and Rajkiakrit High school Babhangama main gate on Bihpur - Gopalpur Road, Block- Bihpur	BHAGALPUR	Rural	100	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
551	Between 0.5 km to 5 km from intersection of Chandardai-Kamaldaha-Protha Road and Araria Court-Chandardai-Rajokhar Road towards Chikni on Chandardai-Kamaldaha-Protha Road, Block-Araria	ARARIA	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
552	From Ramgadh More towards dogachiya More on Sheikhpura -Mehus-Sahra Road within block Ghat Kusumbha	Sheikhpura	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
553	Within 5 km from Pategna Chowk towards Biri Pul on RWD road, Block- Araria	ARARIA	Rural	65	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
554	VILLAGE MALDIHA ON HANUMAN NAGAR CHAKLA BHATSARA ROAD, BLOCK BARHARA	PURNIA	Rural	70	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
555	On Jagdishpur - Sanhoula road, Block- Goradih	Bhagalpur	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
556	Within 2 KM from main gate DAV school, Dayanand Nagar, Maheshkhunt towards NH 31, Block- Gogri	Khagaria	Rural	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
557	WITHIN 2 KM FROM MAIN GATE OF SAMUDAIK BHAWAN BARAHARA, TOWARDS PARSA ON BARHARA-BIHARIGANJ ROAD, BLOCK BARHARA	PURNIA	Rural	100	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
558	Within 4 km from intersection of NH 327 E and Saharsa Bihra via Agwanpur Road on Saharsa Bihra via Agwanpur Road ,Block-Sattar Kataiyaa	Saharsa	Rural	100	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
559	Between 0.3 KM from Kanjhiya Byepass Chowk and Tuta pul(on Andheri nadi) on Bhagalpur - Dariyapur Road, Block- Nathnagar	Bhagalpur	Rural	110	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
560	Between Utkramit Madhya Vidyalay Mankaul & Swasthya Upkendra Vrindavan on Mankaul Road,Block Ariari	Sheikhpura	Rural	120	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
561	Within 4 km from Middle School Jagaili towards Purnea on Purnea Srinagar Road, Block Srinagar	PURNIA	Rural	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
562	Within 3 KM of Sundar Singh Mahavidyalay, Mehus towards Mehus More, Block Sheikhpura	Sheikhpura	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
563	Within 1.5 km to 4 km from Chewara Chowk Sheikhpura towards Sirari on Sirari to Chewara Path, Block Sheikhpura	Sheikhpura	Rural	100	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
564	Within 1 Km to 3 Km from Rosera end of Gudarghat Bridge towards Samastipur town (on Ilmasnagar-Ballipur-Dumra-Baheri Road), Block- Khanpur	Samastipur	Rural	100	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
565	WITHIN 4 KM FROM KHAIRA CHOWK TOWARD CHAUDIHA ON AMIN-KHAIRA ROAD, BLOCK-KHAIRA	JAMUI	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
566	Within 2km from Kumhara Middle School Main Gate towards Baluaha Bazaar on Goraho PWD Road to Baluaha Road(Road No. 17)(LHS), Block-Mahishi	Saharsa	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
567	Village Nayagaon on Gupta Lakhminia Bandh Road, Block Matihani	Begusarai	Rural	100	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
568	On Vinoba Bhave Path, Village-Murajpur,Block-Nauhatta	Saharsa	Rural	100	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
569	Within 3 km from Madhya Vidhyalay Sahra-bataura towards Belauni, Block Ghat Kusumba	Sheikhpura	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
570	Within 1.5 km from Terhagachh Police Station main gate towards Dhabeli on Dhabeli to Fatehpur Road, Block-Terhagachh	Kishanganj	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
571	From Lucho Chowk, Naya Tola Rachiyahi towards Ulaw Dhala within Block Matihani, Block Matihani	Begusarai	Rural	100	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
572	Within 4 Km from Main Gate of Madhya Vidyalaya Patsa towards Rosera on Rosera-Mabbidhala-Sarhachiya-Magnalgharh-Rajghat-Sattighat Road, Block- Hasanpur	Samastipur	Rural	100	OPEN CC 2	DC	35	35	1225	16	35	Draw of Lots	5	4
573	Within 2 KM from Main Gate of Madhya Vidyalay Basbitti,Supaul on Supaul - Nemua Road, Block Supaul	SUPAUL	Rural	70	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
574	Village-Dabil, Block-Khaira on Jamui-Giddhaur Road	JAMUI	Rural	90	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2

575	Within 1 KM from Main Gate of Utkramit Madhyamik Vidyalay Parsa Urdu,Block- Basantpur on Dhansipatti-Sursar Bazar Road, Block-Basantpur	SUPAUL	Rural	70	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
576	Between 0.3 KM to 3 KM from Railway Crossing Sonaili towards Bastaul on Bastaul-Kushiyari-Sonaili Road, Block - Kadwa	Katihar	Rural	100	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
577	Between 0.3 to 3 km from intersection of Jokihat Dalmalpur Road and Udahat Takni Khata Ghar Road towards Ukhwa on Udahat Takni Khata Ghar Road, Block- Jokihat	ARARIA	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
578	On Atalkha-Kahra More-Pastpar Road,Village-Dhabauli,Block-Patarghat	SAHARSA	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
579	Within 2 km from Chandi Pokhar Kali Sthan, Azamnagar towards Kushida , Block Azamnagar	KATIHAR	Rural	75	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
580	Patner village, on Lakhisarai - Sheikhpura road, Block Lakhisarai	LAKHISARAI	Rural	80	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
581	Within 2 Kms from Kundar Utkramit Madhyamik Vidyalay gate towards Shaheed Jitendra Halt on Dhanawi-Kundar Road , Block - Channan	LAKHISARAI	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
582	Within 2 KM from Yatri Shed Pokhariya(Pokhariya) towards Belhar on Banka- Belhar Road, Block- Banka	BANKA	Rural	80	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
583	within 4 KM From Main Gate of High School Duar Pahri Jhajha towards Nagi Dam on Keshopur-Borwa Road,Block Jhaja	JAMUI	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
584	Within 1 KM to 4 KM from Main Gate of Middle School , Sonmanki towards Chiraia, Block - Alauli	KHAGARIA	Rural	100	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
585	Within 4 KM from main gate of Middle School Amni towards SH 95, Block - Mansi	KHAGARIA	Rural	75	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
586	WITHIN 0.5 KM to 6 KM FROM KOHWARWA MORE TOWARDS JHAJHA on LAXMIPUR-JINHARA-DHAMNA-JHAJHA ROAD,Block -LAXMIPUR	JAMUI	Rural	100	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
587	Between Middle School Deori to Kanya Prathamik School Baisa, Block- Parbatta	KHAGARIA	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
588	Within 0.5 KM to 4 KM from Tilathi Chowk towards Sakrohar, Block-Beldaur	KHAGARIA	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
589	Village-BISHUNPUR,BLOCK-Shambhuganj on Ramsaraiyya-Khesar- Shambhuganj Road	BANKA	Rural	100	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
590	Within 7.5 km from Harpur Bochaha Bridge on Mohiuddin nagar (Baluahi)- Patasiya road, Block - Mohiuddinagar	SAMASTIPUR	Rural	70	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
591	Within Village-Tola Laurhia Kusha, Block - Belhar, on Banka-Belhar chowk to Chirouta Road via Jhunka-Basmata-Chirauta	BANKA	Rural	85	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
592	Panchayat-Lakrikola on Banka via-Jamdaha to Deoghar road, Block - Banka	BANKA	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
593	Within 5 km from Dhamua Chowk towards Dal Singh Sarai on Samastipur Dalsingh Sarai Road	SAMASTIPUR	Rural	70	Open	DC	35	35	1225	16	35	Draw of Lots	5	4
	WITH IN 2 KM FROM RAJKIYA PRATHMIK VIDHYALAYA MAIN GATE, PEULI TOWARDS BARKAGAON	GOPALGANJ	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
	WITHIN 2 KM FROM RAJKIYA PRATHMIK VIDHYALAYA MAIN GATE , GHORTHA TOWARD BISHRAMPUR JAGTAULI ROAD,	GOPALGANJ	Rural	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
596	WITHIN MOUZA BAIRAGI SONBARSA, BLOCK- BAGAH 2	WEST CHAMPARAN	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
597	IN BETWEEN KM STONE 2 AND 6 ON ADAPUR- CHAMPAPUR-NARARIGIR ROAD	EAST CHAMPARAN	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
598	WITHIN 3 KM FROM INTERSECTION WITH NH-27 ON BARURAJ- BARZI ROAD	MUZAFFARPUR	Rural	55	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
599	WITHIN 3 KM FROM RASULPUR CHOWK TOWARDS THETI CHOWK ON PARSA BHAKURA BHITTI ROAD	SARAN	Rural	55	OBC PH	DC	35	35	1225	16	35	Draw of Lots	5	3
600	FROM BANK OF INDIA, INARWA PHULWAR BRANCH TO RAJKIYA UTKRAMIT MADHYA VIDYALAYA, MAJIRWA ON BIRTI BAZAR-BANKATWA ROAD	EAST CHAMPARAN	Rural	50	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
601	WITHIN 3 KM OF UTKRAMIT MADHYAMIC UCHH VIDYALAYA PRAHLADPUR MUSHHARI MUZAFFARPUR (NOT IN MUNICIPAL AREA)	MUZAFFARPUR	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
602	BETWEEN 0.3 KM TO 3 KM FROM HORALPATTI CHOWK TOWARDS ASHOK PAPER MILL ON HORALPATTI TO ASHOK PAPER MILL ROAD BLOCK-HAYAGHAT	DARBHANGA	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
603	FROM FAKULI CHOWK TOWARDS LALGANJ WITHIN MUZAFFARPUR DISTICT	MUZAFFARPUR	Rural	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	LACHHNAUNTA, NEAR BAUDHI DEVI TEMPLE, BLOCK RAXAUL, RAMGARHWA- SIKTA ROAD	EAST CHAMPARAN	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4

WITHIN 2 KM FROM MILESTONE NO. 2 (FAKRUDDINPUR = 2KM) TOWARDS BARHARIA ON BARHARIA - TARWARA ROAD, BLOCK - BARHARIYA	SIWAN	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
MAUZA JOBDI, BETWEEN SATYAGRAH GIRLS HIGH SCHOOL MAIN GATE AND JHANJRI CHOWK, BLOCK MAINATAND, WEST CHAMPARAN, BIHAR	WEST CHAMPARAN	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
IN BETWEEN KM STONE 9 AND 7 ON DHAKA-GHODASAHAN ROAD	EAST CHAMPARAN	Rural	55	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
WITHIN 2 KM ON EITHER SIDE FROM MILE STONE 5 ON RAMNAGAR-	WEST CHAMPARAN	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
WITHIN .5 KM TO 4.5 KM ON PIPRA ROAD FROM NH27(OLDNH28) CROSSING	EAST CHAMPARAN	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
MAUZA-GULMA ON KUSHESHWAR ASTHAN TO PHOLTORA GHAT ROAD ,	DARBHANGA	Rural	55	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
WITHIN 1 KM FROM MILESTONE NO. 1 (RAGHUNATHPUR = 11 KM) TOWARDS RAGHUNATHPUR ON ANDAR - RAGHUNATHPUR ROAD , BLOCK -	SIWAN	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
WITHIN 2 KM FROM PRIMARY HEALTH CENTRE, TAJPUR ON SHEOHAR	SHEOHAR	Rural	46	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
WITHIN 4 KM OF KODARIA GHAT BUDHI GANDAK BRIDGE TOWARDS	MUZAFFARPUR	Rural	50	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
BETWEEN 1 KM TO 5 KM FROM INTERSECTION OF NAGRA-KANHAULI ROAD	SARAN	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
Within 3 Km from Dakshin Bihar Gramin Bank,Chakki,Dist-Buxar while going from Dakshin Bihar Gramin Bank, Chakki towards Gangauli village via Rajkiya Kanya +2 Uchch Vidyalaya , Chakki	BUXAR	Rural	115	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
Between 0.5 Km to 8.5 Km from intersection of SH-70 and Fatehpur -	GAYA	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
Within 11 Km from Tiyar Police station while going from Tiyar Police station	BHOJPUR	Rural	117	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
Between 1 Km and 08 KM from Intersection of Garhani-Sikarhatta Road and	BHOJPUR	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
Between 1 Km to 5 Km from Maharana Pratap Chowk (Intersection of Ara- Chhapra Road and NH-922) while going from Maharana Pratap chowk	BHOJPUR	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
On Salaiya Main Road, Between Main gate of Police Station Salaiya and	GAYA	Rural	115	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
Within 6 KM from intersection of NH-22 (Old NH-83)(Patna-Dobhi Road) and	PATNA	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
Between 1 Km to 5 Km from Raghunathpur Railway crossing towards	BUXAR	Rural	99	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
Within 6 Km from Government Middle School Megharia Main Gate on Agiaon	BHOJPUR	Rural	70	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
Between 0.5 Km to 3.5 Km from Gola Chowk (Pampu Kal Chowk) towards	NAWADA	Rural	116	OPEN PH	DC	35	35	1225	16	35	Draw of Lots	5	4
Between 0.5 Km to 4 Km from Dev More (NH-19 and Deo Road Junction)	AURANGABAD	Rural	121	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
Within 2 Kilometers from Hanuman Mandir, Tilakpura towards Nawhi on	PATNA	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
Between Km stone number 06 and 10 on Buxar-Itarhi Road while going from Police line Buxar towards Itarhi/Dhansoi	BUXAR	Rural	98	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
Village Bariarpur Buzurg on Chaksikandar Mahua Road	VAISHALI	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
Within 2.5 KM from SBI Saraiya Bank Branch while going from SBI Saraiya	BHOJPUR	Rural	98	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
Between 0.5 Km to 5 Km from Chandi Chowk (Intersection of SH-81 & Jamira-	BHOJPUR	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
Between 3 Km to 8 Km from Anugrah Narayan Magadh Medical College Main	GAYA	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
Between 0.3 Km to 3 Km from main gate of Chaturbhuji Dham, Dumri towards Parsathua on Kudra - Parsathua Road	KAIMUR	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
Between National Children School on Baghra Road, Ranipur and Primary Health Centre, Kurkuri	PATNA	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
Between 1 Km to 9 Km from Intersection of SH-15 & Nasriganj-Nokha Road	ROHTAS	Rural	105	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
towards Rajpur on Nasriganj-Nokha Road				1							1		
	BARHARIA ON BARHARIA - TARWARA ROAD, BLOCK - BARHARIYA MAUZA JOBDI, BETWEEN SATYAGRAH GIRLS HIGH SCHOOL MAIN GATE AND JHANJRI CHOWK, BLOCK MAINATAND, WEST CHAMPARAN, BIHAR IN BETWEEN KM STONE 9 AND 7 ON DHAKA-GHODASAHAN ROAD WITHIN 2 KM ON EITHER SIDE FROM MILE STONE 5 ON RAMNAGAR- SOMESHWAR ROAD, BLOCK RAMMAGAR WITHIN 5 KM TO 4.5 KM ON PIPRA ROAD FROM NH27(OLDNH28) CROSSING , BLOCK CHAKIA MAUZA-GULMA ON KUSHESHWAR ASTHAN TO PHOLTORA GHAT ROAD , BLOCK -KUSHESHWAR ASTHAN PURBI WITHIN 1 KM FROM MILESTONE NO. 1 (RAGHUNATHPUR = 11 KM) TOWARDS RAGHUNATHPUR ON ANDAR - RAGHUNATHPUR ROAD , BLOCK - RAGHUNATHPUR WITHIN 2 KM FROM PRIMARY HEALTH CENTRE, TAJPUR ON SHEOHAR PHENHARA PWD ROAD, BLOCK - SHEOHAR WITHIN 4 KM OF KODARIA GHAT BUDHI GANDAK BRIDGE TOWARDS KALYANPUR HAROUNA BETWEEN 1 KM TO 5 KM FROM INTERSECTION OF NAGRA-KANHAULI ROAD AND NH331 ON NAGRA-KANHAULI ROAD TOWARDS NAGRA WIthin 3 Km from Dakshin Bihar Gramin Bank, Chakki, Dist-Buxar while going from Dakshin Bihar Gramin Bank, Chakki, Dist-Buxar while going from Dakshin Bihar Gramin Bank, Chakki, Dist-Buxar while going from Dakshin Bihar Gramin Bank, Chakki, Dist-Buxar while going Within 1 Km from Tiyar Police station while going from Tiyar Police station towards Bihae on Bihea-Tiyar Road Between 0.5 Km to 8.5 Km from intersection of Garhani-Sikarhatta Road and Sh-120 O Garhani-Sikarhatta Road Between 1 Km and 08 KM from Intersection of Garhani-Sikarhatta Road and Sh-120 N Garhani-Sikarhatta Road Between 1 Km to 5 Km from Maharana Pratap Chowk (Intersection of Ara-Chhapra Road and NH-922) while going from Maharana Pratap Chowk (Intersection of Marasa-Sampatchak Road) Between 1 Km to 5 Km from Maharana Pratap Chowk (Intersection of Ara-Chhapra Road and Sh-120 N GAR-Sampatchak Road) Between 1 Km to 5 Km from Maharana Pratap Chowk (Intersection of Baga Road) Between 1 Km to 5 Km from Gola Chowk (Pampu Kal Chowk) towards Kunj on Nawada - Kunj Road Between 0.5 Km to 5 Km from Chandi Chowk (Pampu Kal Chowk) towards Suani Road Between 0.5 Km to 5 Km f	BARHARIA ON BARHARIA - TARWARA ROAD, BLOCK - BARHARIYA MAUZA JOBDI, BETWEEN SATYAGRAH GIRLS HIGH SCHOOL MAIN GATE AND JHANJRI CHOWK, BLOCK MAINATAND, WEST CHAMPRARN, BIHAR WEST CHAMPARAN IN BETWEEN KM STONE 9 AND 7 ON DHAKA-GHODASAHAN ROAD WITHIN 2 KM ON EITHER SIDE FROM MILE STONE 5 ON RAMNAGAR- SOMESHWAR ROAD, BLOCK RAMNAGAR WITHIN 5 KM TO 4.5 KM ON PIPRA ROAD FROM NH27(OLDNH28) CROSSING BLOCK CHANGHAMA MUZHA-GULMA ON KUSHESHWAR ASTHAN TO PHOLTORA GHAT ROAD, BLOCK - KUSHESHWAR ASTHAN PURBI WITHIN 1 KM FROM MILESTONE NO. 1 (RAGHUNATHPUR ROAD, BLOCK - SIWAN MUZHA-GULMA ON KUSHESHWAR ASTHAN PURBI WITHIN 2 KM FROM MILESTONE NO. 1 (RAGHUNATHPUR ROAD, BLOCK - SIWAN RAGHUNATHPUR WITHIN 2 KM FROM PIRMARY HEALTH CENTRE, TAJPUR ON SHECHAR WITHIN 1 KM FROM AND ROAD SHOCK - SIWAN MITHIN 2 KM FROM PRIMARY HEALTH CENTRE, TAJPUR ON SHECHAR WITHIN 4 KM OF KODARIA GHAT BUDHI GANDAK BRIDGE TOWARDS KALYAMPUR HAROUNA MUTHIN 4 KM OF KODARIA GHAT BUDHI GANDAK BRIDGE TOWARDS KALYAMPUR HAROUNA MITHIN 4 KM OF KODARIA GHAT BUDHI GANDAK BRIDGE TOWARDS KALYAMPUR HAROUNA MITHIN 5 KM FOO SM FROM INTERSECTION OF NAGRA-KANHAULI ROAD AND NH331 ON NAGRA-KANHAULI ROAD TOWARDS NAGRA WITHIN 5 KM FOO SM FROM INTERSECTION OF NAGRA-KANHAULI ROAD AND NH331 ON NAGRA-KANHAULI ROAD TOWARDS NAGRA WITHIN 6 S. KM TOS SM FROM INTERSECTION OF NAGRA-KANHAULI ROAD BETWEEN 1 KM TO S KM FROM INTERSECTION OF NAGRA-KANHAULI ROAD MUTHIN 6 S. KM TOR BASH BIB GORGEN BRIDGE STATION SHEED SHAWAR SHAWA	BARHARIA ON BARHARIA - TARWARA ROAD, BLOCK - BARHARIYA MAUZA JOBDI, BETWEEN SATYAGRAH GIRLS HIGH SCHOOL MAIN GATE AND JHANIRI CHOWK, BLOCK MAINATAND, WEST CHAMPARAN, BHAR NI BETWEEN KM STONE 9 AND 7 ON DHAKA-GHODASAHAN ROAD WEST CHAMPARAN RUTAL MUTHIN 2 KM ON EITHER SIDE FROM MILE STONE 5 ON RAMNAGAR- SOMESHWAR ROAD, BLOCK RAMNAGAR SOMESHWAR ROAD, BLOCK RAMNAGAR RUTAL BLOCK CHAKIA MAUZA-GULMA ON KUSHESHWAR ASTHAN TO PHOLTORA GHAT ROAD, BLOCK KUSHESHWAR ASTHAN PURBI MUTHIN 1 KM FROM MILESTONE NO. 1 (RAGHUNATHPUR = 11 KM) CHOWARDS RAGHUNATHPUR ON ANDAR - RAGHUNATHPUR = 11 KM) TOWARDS RAGHUNATHPUR ON ANDAR - RAGHUNATHPUR ROAD, BLOCK - RAGHUNATHPUR NO HOLD SHAM SHAM SHAM SHAM SHAM SHAM SHAM SHAM	BARHARIA ON BARHARIA - TARWARA ROAD, BLOCK - BARHARIYA MAUZA JORDI, BETWEEN SATYAGRAH GIRLS HIGH SCHOOL MAIN GATE AND JANAJIRI CHOWK, BLOCK MAINATAND, WEST CHAMPARAN, BIHAR WEST CHAMPARAN Rural SD WITHIN 2 KM ON EITHER SIDE FROM MILE STONE S ON RAMNAGAR- WITHIN 2 KM ON EITHER SIDE FROM MILE STONE S ON RAMNAGAR- WITHIN 2 KM ON EITHER SIDE FROM MILE STONE S ON RAMNAGAR- WITHIN 2 KM ON EITHER SIDE FROM MILE STONE S ON RAMNAGAR- WITHIN 2 KM ON EITHER SIDE FROM MILE STONE SON RAMNAGAR- WITHIN 3 KM ON 2 KM ON PIPRA ROAD FROM NH27 (OLDNH28) CROSSING JELOCK CHAKIAN MAUZA-GUIUNA ON KUSHESHWAR ASTHAN TO PHOLTORA GHAT ROAD, BLOCK -KUSHESHWAR ASTHAN PUBBI WITHIN 1 KM OF A SKM ON PIPRA ROAD RAMNAGAR WITHIN 1 KM OF SOM MILESTONE NO. 1 (RAGHUNATHPUR = 11 KM) TOWARDS RAGHUNATHPUR ON ANDAR - RAGHUNATHPUR ON SHEOHAR WITHIN 1 KM FROM MILESTONE NO. 1 (RAGHUNATHPUR ON SHEOHAR WITHIN 1 KM OF KODARIA GHAT BUDHI GANDAK BRIGGE TOWARDS KALYAMPUR HARDONA BETWEEN 1 KM TO S KM ROMINTERSECTION OF NAGRA-KANHAULI ROAD AND NIB31 ON MAGRA-KANHAULI ROAD DAWARDS NAGRA WITHIN 1 KM FOR DAKSHA BIHAR GRAMI BRAG	BARHARIA ON BARHARIA - TARWARA ROAD, BLOCK - BARHARIYA SIWAN MALZA JORD, BETWEEN SATYAGRAH GRILS HIGH SCHOOL MAIN GATE AND JANUARI CHOWN, GLOCK MAINTAND, WEST CHAMPARAN, BIHAR WEST CHAMPARAN RUSH WEST CHAMPARAN RUSH STORE 9 AND 7 ON DHAKA-GHODASAHAN ROAD EAST CHAMPARAN RURAL SO OPEN WITHIN 2 KM ON EITHER SIDE FROM MILE STONE 5 ON RAMMAGAR. WEST CHAMPARAN RUSH SO OPEN SOMESHWAR ROAD, BLOCK RAMMAGAR WITHIN 2 KM ON BIFHER SIDE FROM MILE STONE 5 ON RAMMAGAR. WEST CHAMPARAN RURAL SO OPEN SOMESHWAR ROAD, BLOCK RAMMAGAR WITHIN 5 KM TO 4.5 KM ON PIPPAR ROAD FROM HHZ/CIOLNY28 (ROSSING BLOCK CHAMPARAN) RURAL SO OPEN SOMESHWAR ROAD, BLOCK RAMMAGAR SO OPEN SOMESHWAR ROAD SO OPEN SOMESHWAR ASTHAN TO PHOLTORA GHAT ROAD, BLOCK - USHESHWAR ASTHAN THAN THE ROAD, BLOCK - USHESHWAR ASTHAN THAN THAN THAN THAN THAN THAN THAN	BARHARA ON BARHARIA - TARWARA ROAD, BLOCK - BARHARIYA MAUZA JOBDI, BETWEEN SATYAGRAH (RISS HIGH SCHOOK MAIN GATE AND JUDIANIE CONTROL OF THE STATE	BARHARIACO NA BARHARIACO NA RATAWARA ROAD, BLOCK - BARHARIYA	BARHARIAN ON BARHARIAN - TARVAKAR ADOR, BLOCK - BARHARIYA SIWAN WEST CHAMPARAN Rural SO OPEN DC 35 35 35	BARHHARA ON BARHHARA - TARAWARA ROAD, BLOCK - BARHARYAN SWAN WEST CHAMPARAN SPO OPEN DC 35 35 1225	BARHARRA DN BARHARA - TARWARRA ROLD, BLOCK: BARHARYA SWET CHAMPARAN Roll SO OPEN DC 35 35 1225 16	SAMEWARD OR SAMEWARD - TARKWARD ACROS, SECOL: ADMINISTRATES SCIENCE ACTIVISION OF SAME ACCOUNT OF SAME ACCOU	MARCHARDA CORD. BENEFIT ANTONE OF COLOR AND	MARIANGER OR MARIANGER ATTOMACO AND COLOR - BASHARROW MARIANGER OR

636	Within 5 Km on either side from Devi Mandir Baluganj Main Gate on Dumri - Vishunpur - Deo Road	AURANGABAD	Rural	97	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
637	Within 2 Km from Main Gate of Malikpur Indane Gas Godown on road towards Dhudhaili More (Intersection of Dhudhaili-Nemdarganj road and NH-20)	NAWADA	Rural	102	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
638	Within 2 Km from SDS Heavy Motor Driving Training School Main Gate towards Kadirganj	NAWADA	Rural	100	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
639	Village Phangi on Itarahi - Dhansoi - Dinara Road	ROHTAS	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
640	Between 0.3 to 3 Km from Intersection of Dinara- Baraon Road and NH-319 on Dinara- Baraon Road	ROHTAS	Rural	103	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
641	Between 0.3 Km to 2.5 Km from Patel Chowk (Vishwakarma Chowk) towards Pakhri Barawan on Warsaliganj-Pakhri Barawan Road	NAWADA	Rural	112	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
642	Within 5 Km from Sahar Rampur towards Pitwas on Naubatpur Masaurhi Road	PATNA	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
643	Within 3 Km from Usri Primary School Main Gate towards Danapur on Shivala- Danapur Road	PATNA	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
644	Within 0.3 Km to 2 Km on either side of Baba Malang Asthan Mandir On Garaul-Mathnamal Road,	VAISHALI	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
645	Between 0.3 Km to 3 Km on Roh-Bhatta-Siur Road from intersection of Kunj- Kunjaila Road and Roh-Bhatta-Siur Road towards Roh	NAWADA	Rural	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
646	On Naubatpur- Shivala Road,Between Government High School, Naubatpur & Shivala Chowk	PATNA	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
647	Between AlIMS Golambar & Janipur Police Station on Phulwarisharif-Janipur Road	PATNA	Rural	150	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
648	Between 0.5 Km to 10 Km from Bhindas more (Intersection of NH-120 & Bhindas-Nawada-Rajgir road) towards Rajgir on Bhindas-Nawada-Rajgir road	GAYA	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
649	Between 0.3 Km to 5 Km from intersection of Patna Bypass and Marchi Road on Marchi Road (not in Municipal Limit)	PATNA	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
650	Between Village Mali and Village Basdiha on Chatra-Navinagar Road	AURANGABAD	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
651	Between 0.3 Km to 4 Km from intersection of Beda Mokar Bypass Road & SH- 12 on Beda Mokar Bypass Road towards Baradih Bridge	ROHTAS	Rural	100	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
652	Within 2 Km from Usari Chowk towards Khagaul on Usari- Khagaul Road	PATNA	Rural	50	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
653	Village Tajpura urf Shekhpura on Mahua - Bakhridua - Derhua Chowk Road	VAISHALI	Rural	80	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
654	Village Imadpur Sultan on Hilalpur Road, Block: Hajipur	VAISHALI	Rural	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

[#] Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (
www.iocl.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Applicatio n fee in Rs.
Regular ROs	CFS	SC/ST	3000	Rural ROs	CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of $\underline{\bf 15}$ years and renewable every $\underline{\bf 1}$ years thereafter

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

For any information with regard to the advertisement, candidates may contact the following address:-

Districts	Address
	BEGUSARAI Divisional Office, Indian Oil Corporation Limited (MD), Opp. Barauni Refinery Police Station, Begusarai - 851114, Bihar. Contact No. 9665783999
	Muzaffarpur Divisional Office, Krishna Complex, Akharaghat Road, Muzaffarpur - 842001, Bihar. Contact No. 0621-2210111
ARWAL, AURANGABAD, BHOJPUR,BUXAR,GAYA, JEHANABAD, KAIMUR, NALANDA,NAWADA, PATNA, ROHTAS, VAISHALI	Patna Divisional Office, 3A, Maurya Lok Complex, 3rd floor, Dak Bunglow Road, Patna - 800 001, Bihar. Contact No. 0612-2232105